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THE S-BLOCK ELEMENTS

1. What are s-block elements ? Write their general

electronic configurations.

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_lEHdNutn6RE8
https://dl.doubtnut.com/l/_culfmhUhYnJ4

2. Name alkali metals in increasing order of atomic

number.

° Watch Video Solution

3. Which of the following isn't considered as an

alkaline earth metal ?

A. Ca

B. Sr

C.Ba

D. Be


https://dl.doubtnut.com/l/_culfmhUhYnJ4
https://dl.doubtnut.com/l/_Xrngbh5FUlej

Answer:

° Watch Video Solution

4. Give the name and electronic configuration of

second alkali metal.

o Watch Video Solution

5. What is meant by 'diagonal relationship'? Why do
some elements show diagonal relationship? How
does lithium resemble magnesium in its chemical

behaviour?



https://dl.doubtnut.com/l/_Xrngbh5FUlej
https://dl.doubtnut.com/l/_m4Rko4NG2D0h
https://dl.doubtnut.com/l/_gbHHPai2iUx2

‘ ° Watch Video Solution

6. Why is it that the s-block elements never occur
free in nature? What are their usual modes of

occurrence and how are they generally prepared?

° Watch Video Solution

7. The alkali metals are soft due to-

° Watch Video Solution



https://dl.doubtnut.com/l/_gbHHPai2iUx2
https://dl.doubtnut.com/l/_MxC3nDMDx97L
https://dl.doubtnut.com/l/_sJu5Ac1fAFif

8. What is flame test and why do alkali metals show

characteristic colours in the flame?

° Watch Video Solution

9. How flame test helps in distinguishing alkali

metals?

° Watch Video Solution

10. Why do alkali metal tarnishes in air?

° Watch Video Solution



https://dl.doubtnut.com/l/_GQ0ui3a0lN0N
https://dl.doubtnut.com/l/_fyfKwminklDm
https://dl.doubtnut.com/l/_Gp9iC141QO20

11. Name the products formed when metals react

with cold water.

° Watch Video Solution

12. The alkali metal halides are ionic or covalent?

° Watch Video Solution

13. Give reasons for the following:

Alkali metals are good reducing agents.

° Watch Video Solution



https://dl.doubtnut.com/l/_Gp9iC141QO20
https://dl.doubtnut.com/l/_hIYbJPe0nLsQ
https://dl.doubtnut.com/l/_B0Wb7ydBYpN4
https://dl.doubtnut.com/l/_8wT55zXiTQgc

14. What kind of oxides are formed by lithium?

° Watch Video Solution

15. How alkali metal halides can be prepared?

° Watch Video Solution

16. What are oxo-acids?

° Watch Video Solution



https://dl.doubtnut.com/l/_8wT55zXiTQgc
https://dl.doubtnut.com/l/_FBmGVhru3OIR
https://dl.doubtnut.com/l/_wJdwCZF1SqGP
https://dl.doubtnut.com/l/_4aHSFFmZCi9n
https://dl.doubtnut.com/l/_CKc4Vapck9FM

17. Name the chief factor responsible for the

anomalous behaviour of lithium.

o Watch Video Solution

18. The main process for the manufacture of sodium

carbonate is

A. (a) Carbon process

B. (b) Solvay process

C. (c) Down's process

D. (d) Nelson process


https://dl.doubtnut.com/l/_CKc4Vapck9FM
https://dl.doubtnut.com/l/_1761V99lfsTv

Answer:

° Watch Video Solution

19. What impurities are present in brine solution?

° Watch Video Solution

20. Describe one method of manufacture of sodium
hydroxide and discuss its three industrial uses. What

happens when sodium hydroxide reacts with '‘CO 2 ?

° Watch Video Solution



https://dl.doubtnut.com/l/_1761V99lfsTv
https://dl.doubtnut.com/l/_5xvCS6XUcYE0
https://dl.doubtnut.com/l/_85I9O49vL74p

21. The atomic radii of alkaline earth metals are
smaller than those of the corresponding alkali

metals. Explain, why?

o Watch Video Solution

22. Why do alkaline earth metals and their
compounds impart characteristic colours to the

flame?

° Watch Video Solution



https://dl.doubtnut.com/l/_eTog29ZT3ZFB
https://dl.doubtnut.com/l/_BWhnOlizOraT

23. What products are formed on thermal

decomposition of (NHy),BeF,?

° Watch Video Solution

24. What is the trend of formation of ionic

compound in alkaline earth metals?

° Watch Video Solution

25. Write two characteristics of halides of beryllium

° Watch Video Solution



https://dl.doubtnut.com/l/_36ZUPbWpPw03
https://dl.doubtnut.com/l/_uDsSzuWagd8s
https://dl.doubtnut.com/l/_R4can8nYKpU8

26. Why beryllium is different from other members

of its group in some properties?

° Watch Video Solution

27.Why C O, is removed when CaCOs; is heated in a

rotary kiln?

° Watch Video Solution

28. How calcium hydroxide is prepared?

° Watch Video Solution



https://dl.doubtnut.com/l/_R4can8nYKpU8
https://dl.doubtnut.com/l/_P7mqIfDYacJa
https://dl.doubtnut.com/l/_Z2IHfkrAqH0l
https://dl.doubtnut.com/l/_Z3TfzaQgJWHJ

29. How calcium carbonate is prepared?

° Watch Video Solution

30. Write the chemical name of Plaster of Paris.
Write the chemical equation of its preparation. Why

should Plaster of Paris be stored in a dry place ?

° Watch Video Solution



https://dl.doubtnut.com/l/_Z3TfzaQgJWHJ
https://dl.doubtnut.com/l/_8iUcOUG8bwir
https://dl.doubtnut.com/l/_VikAyblh4mDK
https://dl.doubtnut.com/l/_B9UPD9aA8lsH

1. An excess of KO, is placed in a closed container
of CO4(g). After reaction is completed. Will the gas
pressure be same, greater or less than initial value.

Explain.

° Watch Video Solution

2. Why hydrated chlorides of Ca, Sr and Ba can be
dehydrated by heating while those of Be and Mg

suffer hydrolysis?

° Watch Video Solution

Try Yourself


https://dl.doubtnut.com/l/_B9UPD9aA8lsH
https://dl.doubtnut.com/l/_7E3GMybDOrJ8

1. How many electrons can be accommodated in the

s-orbital?

° Watch Video Solution

2. How many groups belong to the s-block of the

periodic table ?

° Watch Video Solution

3. The elements of group 1 are called alkali metals.

Give reason.


https://dl.doubtnut.com/l/_Vx2iPtlmCjWo
https://dl.doubtnut.com/l/_JMxOfGvSZCjH
https://dl.doubtnut.com/l/_D34rBJbPBvSd

° Watch Video Solution

4. Write the names of alkaline earth metals in

increasing order of atomic number.

° Watch Video Solution

5. The elements of group 2 are called alkaline earth

metals. Give reason.

° Watch Video Solution



https://dl.doubtnut.com/l/_D34rBJbPBvSd
https://dl.doubtnut.com/l/_jgnG1SeKFEhg
https://dl.doubtnut.com/l/_TG0n6MvHYTrA

6. Which alkali metal is radioactive in nature?

° Watch Video Solution

7. Write two reasons behind the anomalous

behaviour of first element of each group.

° Watch Video Solution

8. Beryllium shows diagonal relationship with
aluminium. Which of the following similarly is

incorrect?

.y


https://dl.doubtnut.com/l/_91Z3sgkHHhft
https://dl.doubtnut.com/l/_D8k1p5PrlzFn
https://dl.doubtnut.com/l/_PH5i2gwPikaM

| ' Vvvatcn video >oiution |

9. Write the reason behind the digonal relationship

among element.

° Watch Video Solution

10. Which of the following is the correct electronic

configuration of potassium ?

0 Watch Video Solution



https://dl.doubtnut.com/l/_PH5i2gwPikaM
https://dl.doubtnut.com/l/_eW90HmSgzXaM
https://dl.doubtnut.com/l/_4X4BheBzFpxe

11. Explain the trend in atomic radii on moving down
a group, with reference to the alkali metals in Group

1[1A].

o Watch Video Solution

12. Which one of the following alkali metals gives

hydrated salts?

o Watch Video Solution

13. Why does the ionisation energy decrease on

going down a group?


https://dl.doubtnut.com/l/_dpcXxSUFU8V0
https://dl.doubtnut.com/l/_0nNUrX6gUUbT
https://dl.doubtnut.com/l/_XyuLZLyWKF8K

° Watch Video Solution

14. Among potassium and sodium which one is

lighter metal?

° Watch Video Solution

15. What colour is imparted by Rubidium in flame

test?

° Watch Video Solution



https://dl.doubtnut.com/l/_XyuLZLyWKF8K
https://dl.doubtnut.com/l/_EG5P0dOWpEIj
https://dl.doubtnut.com/l/_KxphzRWMS2zN

16. Which alkali metal do not show photoelectric

effect?

° Watch Video Solution

17. Why are potassium and caesium rather than

lithium used in photoelectric cells ?

° Watch Video Solution

18. What do metal oxides form when they react with

water?



https://dl.doubtnut.com/l/_HLxUjtA2qb6B
https://dl.doubtnut.com/l/_f9chQ39qKS4W
https://dl.doubtnut.com/l/_Rk8M50B9qQBn
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19. K, Rb and Cs form mainly superoxides.

° Watch Video Solution

20. Which compound is formed when lithium reacts

directly with nitrogen in air?

° Watch Video Solution

21. What is electrode potential?

° Watch Video Solution



https://dl.doubtnut.com/l/_Rk8M50B9qQBn
https://dl.doubtnut.com/l/_sdZyrmBSRHty
https://dl.doubtnut.com/l/_hElsY4r0O9jC
https://dl.doubtnut.com/l/_ftQxzyaYS6qx

22. If an element has more negative value of
electrode potential, then what will be its expected

reducing power?

° Watch Video Solution

23. Apart from water, alkali metals react with which

kind of compounds?

° Watch Video Solution



https://dl.doubtnut.com/l/_ftQxzyaYS6qx
https://dl.doubtnut.com/l/_HW7PvC8yceKR
https://dl.doubtnut.com/l/_z6mHL90nGE9W

24. Mention the important properties of saline

hydrides

° Watch Video Solution

25. Except for lithium, alkali metals form their

hydrides at what temperature.

o Watch Video Solution

26. Why are lithium halides partially covalent ?

Explain with examples.



https://dl.doubtnut.com/l/_7HWjC3RmCn1v
https://dl.doubtnut.com/l/_t2gOmalv6hnl
https://dl.doubtnut.com/l/_ngi2nuYyUq3f

| ¥ Vvvatcn video ooiution ]

27. Among the alkali metals, which element has the

highest reducing power ?

° Watch Video Solution

28. If standard electrode potential of an element x is
-1.70V and of another y is +1.07V. Which one of these

is strong reducing agent?

° Watch Video Solution



https://dl.doubtnut.com/l/_ngi2nuYyUq3f
https://dl.doubtnut.com/l/_8ExVoEAsiy4M
https://dl.doubtnut.com/l/_Mtje4fcZenNN

29. The alkali metals dissolve in ammonia to give a

deep blue solution which is cnducting in nature.

M+ (z + y)NHy — [M(NH;),]"" + 2|e(NHy),|
which of the followin is not true about the solutions

of alkali metals in liquid ammonia?

° Watch Video Solution

30. Why is the solution of an alkali metal in ammonia

blue?

° Watch Video Solution



https://dl.doubtnut.com/l/_PxRSEdWP7tsJ
https://dl.doubtnut.com/l/_HvRCM0LuUL95

31. The blue coloured solution is diamagnetic or

paramagnetic?

° Watch Video Solution

32. The bronze coloured solution is diamagnetic or

paramagnetic?

° Watch Video Solution

33. What kind of oxides are formed by sodium?

° Watch Video Solution



https://dl.doubtnut.com/l/_hqKWhOpWepG6
https://dl.doubtnut.com/l/_2qfMztbqElge
https://dl.doubtnut.com/l/_RSIWRNzQBP71

34. What is the trend of enthalpy of formation of

alkali metal fluoride?

° Watch Video Solution

35. The melting and boiling points of alkali metal

halides always follow the trend ,

o Watch Video Solution

36. Write two properties of alkali metals salts of oxo-

acids.



https://dl.doubtnut.com/l/_RSIWRNzQBP71
https://dl.doubtnut.com/l/_82LFeLy327cK
https://dl.doubtnut.com/l/_XzP4HaKu8ddd
https://dl.doubtnut.com/l/_uBSijfEBB8yB

‘ ° Watch Video Solution

37. Why lithium carbonate is not stable to heat?

o Watch Video Solution

38. Write one difference between lithium and other

members of alkali metals.

° Watch Video Solution



https://dl.doubtnut.com/l/_uBSijfEBB8yB
https://dl.doubtnut.com/l/_WhF8wED2ZmkF
https://dl.doubtnut.com/l/_2xPzuaMiFFbf

39. There is a striking similarity between Li and Mg.

Account for it.

° Watch Video Solution

40. How many water of crystallization are there in

washing soda?

o Watch Video Solution

41. While purification of NaCl, why only crystal of

pure NaCl separate out?



https://dl.doubtnut.com/l/_XTAuSe6pyqAP
https://dl.doubtnut.com/l/_unBFTSxNdE9L
https://dl.doubtnut.com/l/_5Y7X5o7fNYZa

| ' Vvvatcn video ooiution ]

42. Which compound of sodium is formed when

sodium hydroxide absorbs CO,?

° Watch Video Solution

43. Write two uses of sodium hydroxide.

° Watch Video Solution

44, The first ionisation enthalpies of the alkline

earth metals are higher than that of alkali metals


https://dl.doubtnut.com/l/_5Y7X5o7fNYZa
https://dl.doubtnut.com/l/_2ARu9taJimxE
https://dl.doubtnut.com/l/_g8nU5dXLx2aK
https://dl.doubtnut.com/l/_esAFSb5iJ0zW

but second ionisation ethalpies are smaller, why?

° Watch Video Solution

45. Write the trend of hydration enthalpies of

alkaline earth metal ions.

° Watch Video Solution

46. Beryllium and magnesium to not give colour to
flame whereas other alkaline earth metals do so.

Why ?

° Watch Video Solution



https://dl.doubtnut.com/l/_esAFSb5iJ0zW
https://dl.doubtnut.com/l/_bTFBvmiFuEXK
https://dl.doubtnut.com/l/_r5XOgEWkKwaX

47.What is the nature of Be(OH),?

° Watch Video Solution

48. How Beryllium chloride is prepared?

° Watch Video Solution

49. How beryllium hydride is different from the

hydrides of other members of group 27

° Watch Video Solution



https://dl.doubtnut.com/l/_r5XOgEWkKwaX
https://dl.doubtnut.com/l/_xtRQu65eGhBQ
https://dl.doubtnut.com/l/_HoLWYEY6HYtP
https://dl.doubtnut.com/l/_9NH63cKsdA43

50. Which metal is used to remove air from vacuum

tube?

° Watch Video Solution

51. Why alkaline earth metal oxides are quite stable?

° Watch Video Solution

52. Explain the trends in the solubility of carbonates

, sulphates and hydroxides of alkaline earth metals.

° Watch Video Solution



https://dl.doubtnut.com/l/_9FjQb18VevAx
https://dl.doubtnut.com/l/_MFMEnHSXIz2n
https://dl.doubtnut.com/l/_dFcgaDBE0e59

53. What is the trend of formation of hydrated

halides among alkaline earth metals?

° Watch Video Solution

54. Write about solubility of fluorides in comparison

to chlorides of alkaline earth metals.

° Watch Video Solution

55. Anomalous Behaviour Of Beryllium

o Watch Video Solution



https://dl.doubtnut.com/l/_dFcgaDBE0e59
https://dl.doubtnut.com/l/_gFSqZIsYwr9X
https://dl.doubtnut.com/l/_CC901OGnrudA
https://dl.doubtnut.com/l/_k0eIURCNICam

56. Write one similarity between Be and Al.

° Watch Video Solution

57. What is slaking of lime?

° Watch Video Solution

58. Quick lime combines with which type of oxides?

° Watch Video Solution



https://dl.doubtnut.com/l/_k0eIURCNICam
https://dl.doubtnut.com/l/_l1zVYZf0gs6k
https://dl.doubtnut.com/l/_qizw0Q9NqLt9
https://dl.doubtnut.com/l/_5zKGQJdm5qiP
https://dl.doubtnut.com/l/_mia21BNw8T49

59. What happens when carbon dioxide is passed

through lime water?

° Watch Video Solution

60. Why calcium hydroxide is used in white washing?

° Watch Video Solution

61. What happens when CaCOQj3 reacts with dilute

acid?

° Watch Video Solution



https://dl.doubtnut.com/l/_mia21BNw8T49
https://dl.doubtnut.com/l/_yFcKYtNJwq4h
https://dl.doubtnut.com/l/_AXuZDf2QDmmd

62. Write two uses of calcium carbonate.

° Watch Video Solution

63. Name two important raw materials for the

manufacture of cement.

° Watch Video Solution

64. Write one use of cement.

° Watch Video Solution



https://dl.doubtnut.com/l/_k5rDCLRFs9PW
https://dl.doubtnut.com/l/_WeUqVPQXTr4B
https://dl.doubtnut.com/l/_FnV437wwHGJu
https://dl.doubtnut.com/l/_z3um66sJlaFv

65. How many electrons can be accommodated in

the s-orbital?

° Watch Video Solution

66. s-block is comprised of how many groups?

° Watch Video Solution

67. Why are group 1 elements called alkali metals ?

° Watch Video Solution



https://dl.doubtnut.com/l/_z3um66sJlaFv
https://dl.doubtnut.com/l/_HZQgI9EJ9uVQ
https://dl.doubtnut.com/l/_cWOKxNPaG8O5

68. Write the names of alkaline earth metals in

increasing order of atomic number.

° Watch Video Solution

69. The elements of group 2 are called alkaline earth

metals. Give reason.

° Watch Video Solution

70. Which alkali metal is radioactive in nature?

° Watch Video Solution



https://dl.doubtnut.com/l/_aREliNzPjM3t
https://dl.doubtnut.com/l/_WpDFUsEuwQL0
https://dl.doubtnut.com/l/_WbAI7YJn5RPX

71. Write two reasons behind the anomalous

behaviour of first element of each group.

o Watch Video Solution

72. Beryllium exhibits diagonal relationship with

.................. (magnesium / aluminium).

o Watch Video Solution

73. Write the reason behind the digonal relationship

among element.



https://dl.doubtnut.com/l/_WbAI7YJn5RPX
https://dl.doubtnut.com/l/_RkNXXOykXM6K
https://dl.doubtnut.com/l/_gH2obcVuTIzJ
https://dl.doubtnut.com/l/_lCL2I1TdbrLd

‘ ° Watch Video Solution

74. Write the electronic configuration of potassium

0 Watch Video Solution

75. Write the trend of variation in atomic and ionic

radii among the alkali metals.

0 Watch Video Solution

76. Which of the following exists as hydrated salt-

[ e I


https://dl.doubtnut.com/l/_lCL2I1TdbrLd
https://dl.doubtnut.com/l/_ynPn0vhQjM7F
https://dl.doubtnut.com/l/_Wd2JDJARt2jZ
https://dl.doubtnut.com/l/_T2CmsFSoaCHh

| & Watch Video Solution

77. Why does the ionisation energy decrease on

going down a group?

° Watch Video Solution

78. Among potassium and sodium which one is

lighter metal?

° Watch Video Solution



https://dl.doubtnut.com/l/_T2CmsFSoaCHh
https://dl.doubtnut.com/l/_Wl8EebOzPcis
https://dl.doubtnut.com/l/_6z8WMQT39jBa

79. What colour is imparted by Rubidium in flame

test?

° Watch Video Solution

80. Which alkali mettal do not show photoelectric

effect?

° Watch Video Solution

81. Why caesium and potassium are used as

electrodes in photoelectric cells ?



https://dl.doubtnut.com/l/_7GPTKKijBzyi
https://dl.doubtnut.com/l/_S5Ju4CVgaSmQ
https://dl.doubtnut.com/l/_4XT4nircx4QV

| ' Vvvatcn video >oiution ]

82. What kind of chemical compounds are formed

when alkali metal oxides react with water?

° Watch Video Solution

83. K, Rb and Cs form which type of compounds with

oxygen?

° Watch Video Solution



https://dl.doubtnut.com/l/_4XT4nircx4QV
https://dl.doubtnut.com/l/_ZGEhzUyMWW2E
https://dl.doubtnut.com/l/_V95TznWaWhwQ

84. Which compound is formed when lithium reacts

directly with nitrogen in air?

o Watch Video Solution

85. What is electrode potential?

° Watch Video Solution

86. If an element has more negative value of
electrode potential, then what will be its expected

reducing power?

r.


https://dl.doubtnut.com/l/_vME6MhMd7Y0W
https://dl.doubtnut.com/l/_XZ83999rPbIV
https://dl.doubtnut.com/l/_1esZhiYvrXZ3

| ¥ Vvvatcn video ooiution ]

87. Among alkali matals negative electrode

protential of lithium is highest or lowest ?

° Watch Video Solution

88. Apart from water, alkali metals react with which

kind of compounds?

0 Watch Video Solution

89. Write two properties of the alkali metal hydrides.



https://dl.doubtnut.com/l/_1esZhiYvrXZ3
https://dl.doubtnut.com/l/_JbzPYLhSmXcN
https://dl.doubtnut.com/l/_H4zbHUVQCeID
https://dl.doubtnut.com/l/_W08aaPxU2p4t

‘ ° Watch Video Solution

90. Except for lithium, alkali metals form their

hydrides at what temperature.

° Watch Video Solution

91. Why lithium halides show covalent nature.

° Watch Video Solution



https://dl.doubtnut.com/l/_W08aaPxU2p4t
https://dl.doubtnut.com/l/_e2dJ4Te9zi90
https://dl.doubtnut.com/l/_rFIm6lr2TCJu

92. Name the ions present in solution of ammonia

and alkali metals.

° Watch Video Solution

93. The blue colour of solution of ammonia and

alkali metals is due to which species?

° Watch Video Solution

94. The blue coloured solution is diamagnetic or

paramagnetic?



https://dl.doubtnut.com/l/_mA1zBpA4FOmH
https://dl.doubtnut.com/l/_9Ol2UDlHKxpT
https://dl.doubtnut.com/l/_peYK5GIDdoXY

| ' Vvvatcn video ooiution ]

95. The bronze coloured solution is diamagnetic or

paramagnetic?

° Watch Video Solution

96. What kind of oxides are formed by sodium?

° Watch Video Solution

97. What kind of oxides are formed by potassium,

rubidium and Caesium?



https://dl.doubtnut.com/l/_peYK5GIDdoXY
https://dl.doubtnut.com/l/_gWrcmmSV7buD
https://dl.doubtnut.com/l/_6Cp6cQ5C6YR7
https://dl.doubtnut.com/l/_HLHazLqG1zgw

‘ ° Watch Video Solution

98. Write two properties of alkali metals salts of oxo-

acids.

° Watch Video Solution

99. Why lithium carbonate is not stable to heat?

° Watch Video Solution



https://dl.doubtnut.com/l/_HLHazLqG1zgw
https://dl.doubtnut.com/l/_ZVKATQbTOCPR
https://dl.doubtnut.com/l/_Xitw87oyFNOb

100. Write one difference between lithium and other

members of alkali metals.

° Watch Video Solution

101. Write one similarity between lithium and

magnesium.

° Watch Video Solution

102. How many water of crystallization are there in

washing soda?



https://dl.doubtnut.com/l/_hPzRzDOj8IKm
https://dl.doubtnut.com/l/_G8eGpcYhqN7W
https://dl.doubtnut.com/l/_c4G5oGIgqjnC
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103. While purification of NaCl, why only crystal of

pure NaCl separate out?

° Watch Video Solution

104. Which compound of sodium is formed when

sodium hydroxide absorbs CO,?

° Watch Video Solution

105. Write two uses of sodium hydroxide.



https://dl.doubtnut.com/l/_c4G5oGIgqjnC
https://dl.doubtnut.com/l/_rvIEq3wBiIU7
https://dl.doubtnut.com/l/_wP0AU1jJgipp
https://dl.doubtnut.com/l/_xXsYNs2MSnCe

‘ ° Watch Video Solution

106. The first ionisation enthalpies of the alkline
earth metals are higher than that of alkali metals

but second ionisation ethalpies are smaller, why?

° Watch Video Solution

107. Write the trend of hydration enthalpies of

alkaline earth metal ions.

° Watch Video Solution



https://dl.doubtnut.com/l/_xXsYNs2MSnCe
https://dl.doubtnut.com/l/_Ay2Z5mbu0Ane
https://dl.doubtnut.com/l/_rGCwnZ77cviQ
https://dl.doubtnut.com/l/_EK0Xn3URCX59

108. Beryllium and magnesium to not give colour to
flame whereas other alkaline earth metals do so.

Why ?

° Watch Video Solution

109. What is the nature of Be(OH),?

° Watch Video Solution

110. How Beryllium chloride is prepared?

° Watch Video Solution



https://dl.doubtnut.com/l/_EK0Xn3URCX59
https://dl.doubtnut.com/l/_DmQFID8bTv1T
https://dl.doubtnut.com/l/_RLqbCW69Z5e3
https://dl.doubtnut.com/l/_aFeuES9r3L1A

111. How beryllium hydride is different from the

hydrides of other members of group 2?

° Watch Video Solution

112. Which metal is used to remove air from vacuum

tube?

° Watch Video Solution

113. What kind of oxides are formed by the alkaline

earth metal ?

| ° Wiatk A \NAAaA CAliikian



https://dl.doubtnut.com/l/_aFeuES9r3L1A
https://dl.doubtnut.com/l/_WLf8kTxs1ZsV
https://dl.doubtnut.com/l/_NDe4AcUsIbba

114. What is the trend of solubility, thermal stability
and basic character of hydroxides fo alkaline earth

metals ?

° Watch Video Solution

115. Write the trend of hydrotion enthalpies of

alkaline earth metal ions.

° Watch Video Solution



https://dl.doubtnut.com/l/_NDe4AcUsIbba
https://dl.doubtnut.com/l/_mM3si9ulAuAJ
https://dl.doubtnut.com/l/_ZUkB9ZanNgQs

116. Write about solubility of fluorides in comparison

to chlorides of alkaline earth metals.

° Watch Video Solution

117. ANOMALOUS BEHAVIOUR OF BERYLLIUM

° Watch Video Solution

118. Write one similarity between Be and Al.

° Watch Video Solution



https://dl.doubtnut.com/l/_vna2jquMOrCO
https://dl.doubtnut.com/l/_Ii4Drmfy7sIU
https://dl.doubtnut.com/l/_hTIDQKcLQMc5
https://dl.doubtnut.com/l/_VlATaZq1PzBS

119. What is slaking of lime ?

° Watch Video Solution

120. Quick lime combines with which type of oxides ?

° Watch Video Solution

121. What happens when excess of C'O, is passed in

l[ime water and the solution is heated?

° Watch Video Solution



https://dl.doubtnut.com/l/_VlATaZq1PzBS
https://dl.doubtnut.com/l/_gN0PsUqRP4uO
https://dl.doubtnut.com/l/_1DxmpF72kNxZ

122. Why calcium hydroxide is used in white

washing?

° Watch Video Solution

123. What happens when CaC O3 reacts with dilute

acid?

° Watch Video Solution

124. Write two uses of calcium carbonate.

° Watch Video Solution



https://dl.doubtnut.com/l/_1aDMMttpvANl
https://dl.doubtnut.com/l/_p1XLfj8cvwup
https://dl.doubtnut.com/l/_dllFFhJC6Vtv

125. Name two important raw materials for the

manufacture of cement.

° Watch Video Solution

126. Write one use of cement.

° Watch Video Solution

Assignment Section A



https://dl.doubtnut.com/l/_dllFFhJC6Vtv
https://dl.doubtnut.com/l/_TfCJgq9KjUCB
https://dl.doubtnut.com/l/_1x6Ek9XUEjoV

1. Arrange the alkali metals in increasing order of

their density.

A.(a) Lt < Na < K < Rb< Cs

B.(b)Us < Rb < K < Na < Lz

C.(c)Li < K < Na < Rb< Cs

D.(d) K < Na < Li < Rb< Cs

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_CgQtOVjp43Zu

2. Which of the following statements is/are true for

all the alkali metals ?

A.Their nitrates decompose on heating to give

N02 and 02.

B. Their corbonates decompose on heatig to give

CO, and metal oxide.

C.They react with oxygen to give mainly the

oxide MO,

D.They react with halogens to give halides

M*X"~.


https://dl.doubtnut.com/l/_cLubKyBzATCb

Answer: D

° Watch Video Solution

3. The metallic luster exhibited by sodium is

explained by

A. Diffusion of Na ™ ions

B. Oscillation of loose electrons

C. Excitation of free proton

D. Existence of body centred cubic lattice

Answer: B



https://dl.doubtnut.com/l/_cLubKyBzATCb
https://dl.doubtnut.com/l/_sqw5HT64oqmL

| QJ Watch Video Solution

4. Which one of the following ions has the largest

size in aqueous solution?

A Rb*

B. Na™

CKT

D.Lit

Answer: D

0 Watch Video Solution



https://dl.doubtnut.com/l/_sqw5HT64oqmL
https://dl.doubtnut.com/l/_13ySnJr6hbTT
https://dl.doubtnut.com/l/_5Y5aAm3dCZKW

5. Which among the following is the strongest

reducing agent?

A K

B. Na

C. Al

D. Mg

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_5Y5aAm3dCZKW

6. Sodium chloride gives a golden yellow colour to
the bunsen flame, which is due to
A. Sublimation of metallic sodium to give yellow
vapour
B. Photosensitivity of sodium
C. Low ionization potential of sodium
D. Emission of excess of energy absorbed as a

radiation in the visible region.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_6B2IH5bt9Wbx

7. Why lithium is kept wrapped in paraffin wax and

not stored in kerosene oil ?

A. It reacts with kerosene

B. It floats to the surface of kerosene because of

low density

C. It does not react with air and H,O

D. It is an inert metal

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_9e47vCuf4Sk0

8. Which of the following oxides is the most basic in

nature?

A. NCL20

B. BeO

C. Li,O

D. H,O

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_zYnkRh8yG0Yd

9. Which among Na, K,Cs and L: forms most

stable hydride?

A.LiH

B.KH

C.NaH

D. CsH

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_TEbYEOKYuYHS

10. Lithium and magnesium exhibit diagonal

relationship because

A. Both have nearly same size

B. Same reduction potential

C. Both have similar electronic configuration

D. both are found together in nature.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_iZBeQZG8Xs0Y

11. Sodium sulphate is soluble in water,whereas

barium sulphate is sparingly soluble because

A.the hydration energy of sodium sulphate is

less than it lattice energy

B. The hydration energy of sodium sulphate is

more than its lattice energy

C.The hydration and lattice energy are same in

sodium sulphate

D. The lattice energy has no role to play solublity.

Answer: B

| &


https://dl.doubtnut.com/l/_JVvOiy1yixlP

| W Watch Video Solution

12. Sodium carbonate can be manufactured by
Solvay's process but potassium carbonate cannot be
prepared because:

A. K5,COs5 is more soluble

B. K5COs is less soluble

C. KHCOj; is more soluble than NaHCO;

D. KHCOs; is less soluble than NaHCOs.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_JVvOiy1yixlP
https://dl.doubtnut.com/l/_USH2mFAS2ZEf

13. Which decomposes on heating-

A. NaOH

B. KOH

C. LIOH

D. RbOH

Answer: C

o Watch Video Solution

14. Solvay process is used for the manufacture of


https://dl.doubtnut.com/l/_USH2mFAS2ZEf
https://dl.doubtnut.com/l/_MWo3mKC6BfOB
https://dl.doubtnut.com/l/_Tx77GqqojzwD

A. Sodium metal

B. Washing soda

C. Bleaching powder

D. Quick lime

Answer: B

° Watch Video Solution

15. In the manufacture of sodium hydroxide by

product obtained is

A. O,


https://dl.doubtnut.com/l/_Tx77GqqojzwD
https://dl.doubtnut.com/l/_NrlyLxPfCLDw

B. Cl,

C. NCL2 003

D. NaCl

Answer: B

o Watch Video Solution

16. Sodium cannot be obtained by the electrolysis of

aqueous solution of NaC'l using Pt electrodes.

A. Sodium liberated reacts with water to produce

NaOH + H,


https://dl.doubtnut.com/l/_NrlyLxPfCLDw
https://dl.doubtnut.com/l/_H9QIcL8vgo5V

B.Sodium being more electropositive than

hydrogen, H, is liberated at cathode and not

sodium

C. Electrolysis cannot take place with brine

solution.

D. Brine is neutral in nature.

Answer: B

o Watch Video Solution

17. Which of the following bicarbonate does not

exist in solid state?


https://dl.doubtnut.com/l/_H9QIcL8vgo5V
https://dl.doubtnut.com/l/_VYtiAnB5Zs51

A.LiHCO;3

B. KHCO;

C. CSHCOg

D. N(LHCOg

Answer: A

° Watch Video Solution

18. Magnesium cation has polarising power close to

that of :

A. Lithium


https://dl.doubtnut.com/l/_VYtiAnB5Zs51
https://dl.doubtnut.com/l/_NV34XxpxZTLd

B. Sodium

C. Potassium

D. Cesium

Answer: A

° Watch Video Solution

19. In the preparation of sodium carbonate
(NayCO3) which of the following is used as raw

material?

A. Slakedlime


https://dl.doubtnut.com/l/_NV34XxpxZTLd
https://dl.doubtnut.com/l/_pVaRqU0NPEBR

B. Lime stone

C. Quick lime

D. Sodium hydroxide

Answer: B

° Watch Video Solution

20. Which of the following halides has the highest

melting point-

A. (a) NaCl

B. (b) NaBr


https://dl.doubtnut.com/l/_pVaRqU0NPEBR
https://dl.doubtnut.com/l/_0mldK6g4xGQe

C. (c) NaF

D. (d) Nal

Answer: C

o Watch Video Solution

21. The first ionisation enthalpies of the alkline earth

metals are higher than that of alkali metals but

second ionisation ethalpies are smaller, why?

A.There is increase in the nuclear charge of the

alkaline earth metals


https://dl.doubtnut.com/l/_0mldK6g4xGQe
https://dl.doubtnut.com/l/_6i3xd0u5RR0L

B. There is decrease in the nuclear charge of the

alkaline earth metals

C. There is not change is the nuclear charge

D. All of these

Answer: A

o Watch Video Solution

22. The most electronegative alkaline earth metal is

A. Be

B. Mg


https://dl.doubtnut.com/l/_6i3xd0u5RR0L
https://dl.doubtnut.com/l/_IcMDkVfQjA7O

C.Ca

D. Ba

Answer: D

o Watch Video Solution

23. Which of the following electronic configuration
in the outermost two shells is characteristic of the

alkaline earth metals?

A (n — 1)s%p°, ns?(n — 1)s*p’ns®

B.(n — 1)s*p°d™, ns*(n — 1)s*p°dns”



https://dl.doubtnut.com/l/_IcMDkVfQjA7O
https://dl.doubtnut.com/l/_gJYQ1hLx9sTk

C.(n — 1)s%p°, ns’np' (n — 1)s°p’ns’np'

D. (n — 1)s°p°, ns’np*(n — 1)s*p’ns*np’.

Answer: A

o Watch Video Solution

24. Why does magnesium from Mg*>" and not Mg™
?
A. Magnesium (ll) is insoluble in water
B.Commonly higher oxidation states are

preferred by metals


https://dl.doubtnut.com/l/_gJYQ1hLx9sTk
https://dl.doubtnut.com/l/_CATBgcIotimU

C. lonic radius of Mg(ll) is smaller tha of Mg(l)

D. High hydration energy as well as high latice

energy of divalent magnesium ion

Answer: D

° Watch Video Solution

25. Which of the following is amphoteric oxide ?

M’I’L207, 07“03, C"r203, C’I"O, ‘/205, ‘/204

A. CaO

B. NaOH


https://dl.doubtnut.com/l/_CATBgcIotimU
https://dl.doubtnut.com/l/_rOXlKV1SKjvR

C.BeO

D. LiOH

Answer: C

° Watch Video Solution

26. Lime water is an aqueous solution of

A MgSO,
B.Ca(OH),
C. CCLCOg

D. CCLSO4


https://dl.doubtnut.com/l/_rOXlKV1SKjvR
https://dl.doubtnut.com/l/_RkE2YAisNdBq

Answer: B

o Watch Video Solution

27. Which of the following metals is most commonly

used in photochemical cells?

A. Lithium

B. Calcium

C. Caesium

D. Francium

Answer: C



https://dl.doubtnut.com/l/_RkE2YAisNdBq
https://dl.doubtnut.com/l/_Si4hiNOBOZz0

| QJ Watch Video Solution

28. Which substance can be used for purification of
sugar?

A. CCLCOg

B. NCL2003

C. CGHCOg

D.Ca(OH),

Answer: D

0 Watch Video Solution



https://dl.doubtnut.com/l/_Si4hiNOBOZz0
https://dl.doubtnut.com/l/_OJm15G7Aa9l4
https://dl.doubtnut.com/l/_znYy8YuEvdTe

29, Setting of plaster of paris is

A. Oxidation with atmospheric oxygen

B. Combination with atmospheric CO,

C. Dehydration

D. Hydration to yield another hydrate

Answer: D

° Watch Video Solution

30. Dead burnt plaster is


https://dl.doubtnut.com/l/_znYy8YuEvdTe
https://dl.doubtnut.com/l/_N0zXLHXsBngQ

A. CCLCO?,

1
B. CCLSO4. EHzo
C.CaS04.2H,0

D. CaSOy,

Answer: D

° Watch Video Solution

31. Identify the unknown product (x) in the following
reaction

Milk of lime +Cly — x + CaCly + H,0


https://dl.doubtnut.com/l/_N0zXLHXsBngQ
https://dl.doubtnut.com/l/_LR0xrFeYz0WX

A. Ca(OClI),
B.Ca(OH),
C.CaO

D. CaCOg

Answer: A

° Watch Video Solution

32. Formula of gypsum salt is

A.CaSOy - 2H50

1
B.CaSOy, - EHQO


https://dl.doubtnut.com/l/_LR0xrFeYz0WX
https://dl.doubtnut.com/l/_tEGHHyODYKaR

C.2CaS0O, - H,O

D. CCLS’LO?,

Answer: A

o Watch Video Solution

33. Arrange LiOH, NaOH, KOH, RbOH and CSOH in the
increasing order of basic strength and give an

adequate explanation for the same.

A. Strongly basic

B. Weakly


https://dl.doubtnut.com/l/_tEGHHyODYKaR
https://dl.doubtnut.com/l/_ZZNwy8M3Orvx

C. Slightly acidic

D. Amphoteric

Answer: A

° Watch Video Solution

Assignment Section B

1. When 1 mole of a substance (X) was treated with

an excess of water, 2 moles of readily combustible

gas were produced along with solution which when


https://dl.doubtnut.com/l/_ZZNwy8M3Orvx
https://dl.doubtnut.com/l/_RpJLUDvgART7

reacted with CO, gas produced a white turbidity.
The substance (X) could be

A.Ca

B. CCLHQ

C.Ca(OH),

D. Ca(N03)2

Answer: B

o Watch Video Solution

2. A pair of metals which dissolves in sodium

hydroxide solution is


https://dl.doubtnut.com/l/_RpJLUDvgART7
https://dl.doubtnut.com/l/_g2S2CQP9BcqV

A Cu, K

B. Fe, Mg

C.Ag, Cu

D.Sn, Zn

Answer: D

o Watch Video Solution

3. The oxidation state of the mst electronegative

element in the products of the reaction between

BaO, and H,S50, are


https://dl.doubtnut.com/l/_g2S2CQP9BcqV
https://dl.doubtnut.com/l/_5f6otcX3iHBy

A. 0 and -1

B.—1and-2

C.—2andO

D. —2 and +1
Answer: B

° Watch Video Solution

4. Among KO,, AlO; , BaO, and NO,  unpaired

electron is present in

A.NO, and BaO,


https://dl.doubtnut.com/l/_5f6otcX3iHBy
https://dl.doubtnut.com/l/_cPWJoa9Gg7mg

B. KOy and AlO,
C. KO, only

D. BaO, only

Answer: C

° Watch Video Solution

5. A solid compound X on heating gives CO5 gas
and a residue. The residue mixed with water forms Y.
On passing an excess of CO, through Y in water, a
clear solution Z is obtained. On boiling Z, compound

X is reformed, The compound X is


https://dl.doubtnut.com/l/_cPWJoa9Gg7mg
https://dl.doubtnut.com/l/_2EF7LZrrIxuB

A. CCLCOg
B. NCLQCO?,
C. Na(HCOg)2

D. K,CO4

Answer: A

o Watch Video Solution

6. KO, is used in oxygen cylinders in space and

submarines because it

A. Absorbs C'O, and increases O, concentration


https://dl.doubtnut.com/l/_2EF7LZrrIxuB
https://dl.doubtnut.com/l/_KFUNBjaLNJqX

B. Eliminates moisture

C. Absorb CO,

D. Produces ozone

Answer: A

° Watch Video Solution

7. Which of the following substance can be used for

drying neutral or basic gases?

A. Calcium carbonate

B. Sodium carbonate


https://dl.doubtnut.com/l/_KFUNBjaLNJqX
https://dl.doubtnut.com/l/_vCPVfc1uUuj9

C. Sodium bicarbonate

D. Calcium oxide

Answer: D

o Watch Video Solution

8. Which of the following metal carbonates is

decomposed on heating?

A. N(I,QCO:),

B. Li,CO4

C. K,COg


https://dl.doubtnut.com/l/_vCPVfc1uUuj9
https://dl.doubtnut.com/l/_zGAyYu2efGcY

D. Rb,CO5

Answer: B

o Watch Video Solution

9. Which of the following has the highest solubility

product?

A. (A) KOH

B. (A) CsOH

C. (C) LiOH

D. (D) RbOH


https://dl.doubtnut.com/l/_zGAyYu2efGcY
https://dl.doubtnut.com/l/_oRAp5P5PdXhf

Answer: B

° Watch Video Solution

10. Which ions are produced when anhydrous KF is

mixed with anhydrous HF?
AKY H", F~
8. {KF* (HF ")}
CKH' F~

D.K*, HF,

Answer: D



https://dl.doubtnut.com/l/_oRAp5P5PdXhf
https://dl.doubtnut.com/l/_uzlbolfh1fYj

| & Watch Video Solution

1. Arrange the following in increasing order of basic

strength :

MgqO, 5r0O, K70, NiO, Csy,O

A MgO < SrO < K;0 < NiO < Csy0

B.Cs,0 < K70 < MgO < SrO < NiO

C. NiO < MgO < SrO < K,0 < Cs,0

D. K,0 < NiO < MgO < SrO < Cs,0

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_uzlbolfh1fYj
https://dl.doubtnut.com/l/_cwjtC9etrSGb

12. Which of the following are arranged in correct

increasing order of solubilities ?

A. CCLCO?, < KHCO?, < NCLHCO3

B.NaHCO3 < KHCO3 < CaCOs4

C. KHCO3 < NaHCO3 < CaCOg

D. CaCOs < NaHCO,; < KHCO,4

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_cwjtC9etrSGb
https://dl.doubtnut.com/l/_xFnlHr55fDd0

13. Which of the following is a hypothetical

molecular formula?

A. CSB’)”3

B. CSlg

C.CaCl

D. CSF3.

Answer: D

° Watch Video Solution

Assignment Section C



https://dl.doubtnut.com/l/_GWyLtIfcaM5D

1. The sulphide of Na can be prepared by the
following reactions

A.2Na + S — NasyS

B. NayOSO4 + 4C' — NayS + 4CO

C. NCL202 + S02 — NCLQS + 202

1
D. NCLQO + 5 — Na25+ 502

Answer: A::B

o Watch Video Solution

2. Bey,C on hydrolysis yields


https://dl.doubtnut.com/l/_exPOwondGdvh
https://dl.doubtnut.com/l/_mJnYf8exwsby

A. Be(OH),
B. C2H2
C.CH,

D. C2H6

Answer: A::C

° Watch Video Solution

3. The diagonal relationship exists in between

A.Li and Mg

B. Be and Al


https://dl.doubtnut.com/l/_mJnYf8exwsby
https://dl.doubtnut.com/l/_OqKnJFrfC0km

C.Be and Na

D.B and Si

Answer: A::B::D

° Watch Video Solution

4. The pair of compound which cannot exist in

solution is:

A.NaHCO3 and NaOH

B. NCLQSO?, and NCLHCO3

C. NG,QCOg and NaOH


https://dl.doubtnut.com/l/_OqKnJFrfC0km
https://dl.doubtnut.com/l/_2KZmBR6CZAzd

D. NaHCO3 and NaCl

Answer: A::C

o Watch Video Solution

5. Which of the following are good conductors of

electricity in the molten state?

A. BGCl2

B. CaCl,

C. S’I"Clg

D. MgClg


https://dl.doubtnut.com/l/_2KZmBR6CZAzd
https://dl.doubtnut.com/l/_ubRGYDNVGRWs

Answer: B::C::D

° Watch Video Solution

6. Chlorides of which of the following metals

crystallize from an aqueous solution as hydrates?

A.Li

B. Na

C.K

D. Mg

Answer: A::D



https://dl.doubtnut.com/l/_ubRGYDNVGRWs
https://dl.doubtnut.com/l/_3MiKs6byITv5

| QJ Watch Video Solution

7. Potassium iodide act as reducing agent when

treated with

A. Acidified K5Cr,07 solution

B. An acidified K MnQ, solution

C.A CuSO, solution

D. A lead acetate solution

Answer: A::B::C

° Watch Video Solution



https://dl.doubtnut.com/l/_3MiKs6byITv5
https://dl.doubtnut.com/l/_ALjS96eNRXZk
https://dl.doubtnut.com/l/_ralALIlZiwdG

8. Which of the following statements is/are correct?

A. NaHCOs is more soluble than NayCOs

B. NaOH is known as caustic soda

C. NaHCOs is used as an antacid

D. Na;COs is used in the manufacturing of soap

and glass

Answer: B::C::D

o Watch Video Solution

9. Which of the following statement is/are correct?


https://dl.doubtnut.com/l/_ralALIlZiwdG
https://dl.doubtnut.com/l/_0U5cQmPdqukf

A. KCl is a substitute for NaClfor patients of high

blood pressure

B. KOH is a stronger alkali than NaOH

C. KOH is used in the manufacturing of soft soap

D.NaOH is a non-deliquescent white crystalline

solid

Answer: A::B::C

o Watch Video Solution

10. Which of the following statement(s) is/are

correct?


https://dl.doubtnut.com/l/_0U5cQmPdqukf
https://dl.doubtnut.com/l/_72y9BERewXW4

A. KOH is less strong alkali than NaOH

B. Milk of magnesia is an aqueous solution of
Mg(OH),

C.Mg™? ions are not precipitated with the
addition of NH4OH in the presence of
NH,CI

D. CaQs is less stable than MgO,.

Answer: B::C

° Watch Video Solution



https://dl.doubtnut.com/l/_72y9BERewXW4

11. Which category belongs to electron deficient

bridge bonds?

A. Hydrides

B. Carbides

C. Duterides

D. Halides

Answer: A::C

° Watch Video Solution

Assignment Section D



https://dl.doubtnut.com/l/_8lXrZGbuJKqB

1. The elements of group Il are known as alkaline
earth metals. The electronic configuration of these
elements is ns? and oxidation state is 4 2. They have
higher ionization energy than alkali metals in their
respective period due to their small size and
completely filled s-orbital. These elements give
characteristic colour to bunsen flame. magnesium is
used in the preparation of Grignard agent (RMgX)
which is used in organic chemistry for preparation
of sevaral organic compounds like alcohols. acids,
hydrocarbons.

Q. The correct order of 1st ionization energy is

A.Na < Mg < Al


https://dl.doubtnut.com/l/_wV3x7gxnaUQM

B. Na < Al < Mg

C.Al < Mg < Na

D.Ag < Na < Mg

Answer: B

° Watch Video Solution

2. The elements of group Il are known as alkaline
earth metals. The electronic configuration of these
elements . The electronic configuration of these
elements is ns® and oxidation state is +2. They have

higher ionization energy than alkali metals in their


https://dl.doubtnut.com/l/_wV3x7gxnaUQM
https://dl.doubtnut.com/l/_7311jUPtfz2d

respective period due to their small size and
completely filled s-orbital. These elements give
characteristic colour to bunsen flame. magnesium is
used in the preparation of Grignard agent (RMgX)
which is used in organic chemistry for preparation
of sevaral organic compounds like alcohols. acids,
hydrocarbons.

Q. Brick red colour of flame test is gives by

A. Sr

B. Ba

C.Ca

D. Mg


https://dl.doubtnut.com/l/_7311jUPtfz2d

Answer: C

o Watch Video Solution

3. The elements of group Il are known as alkaline
earth metals. The electronic configuration of these
elements is ns? and oxidation state is 4 2. They have
higher ionization energy than alkali metals in their
respective period due to their small size and
completely filled s-orbital. These elements give
characteristic colour to bunsen flame. magnesium is
used in the preparation of Grignard agent (RMgX)

which is used in organic chemistry for preparation


https://dl.doubtnut.com/l/_7311jUPtfz2d
https://dl.doubtnut.com/l/_mwj0mAzFXxRC

of sevaral organic compounds like alcohols. acids,
hydrocarbons.
Q. The reaction of RMgX with water will produces

A. (a) MgXQ

B.(b) Mg(OH),

C.(c) MgXOH
D.(d) H — X
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_mwj0mAzFXxRC

4. The solubility of most salts depends on the lattice
energy of the solid and the hydration energy of the
ions. On descending the group, the hydration
energy decreases more rapidly than the lattice
energy, hence the compound become less soluble as
the metals gets larger. however, with the fluorides
and hydroxides and the lattice energy decreases
more rapidly than the hydration energy and so their
solubility increases on descending the group.

Q. The most soluble hydroxide will be

A.Mg(OH),

B.Ca(OH),


https://dl.doubtnut.com/l/_ok0od0IWnUzq

C.Sr(OH),

D. Ba(OH),

Answer: D

o Watch Video Solution

5. Q. Which of the following is correct order of

solubility of sulphates of alkaline earth metals?

A . MgS0O, > BeSO, > CaSO,4 > BaSO,

B. BeSO4 > MgSO4 > CaSO4 > BaSOy

C. BaSO, > MgSO4 > CaSO4 > BeSO,


https://dl.doubtnut.com/l/_ok0od0IWnUzq
https://dl.doubtnut.com/l/_z9RCEjtbrFIu

D. BaSO, > CaSO4 > MgSO,4 > BeSO;,.

Answer: B

o Watch Video Solution

6. Which of the following compounds are soluble in

water?

A. NCL3PO4

B. AgF

C. KCl

D. All of these


https://dl.doubtnut.com/l/_z9RCEjtbrFIu
https://dl.doubtnut.com/l/_rZLFUspfSzyD

Answer: D

° Watch Video Solution

Be dry air/A > A+B H,O C+ D
‘ XHC\
7 D + HCl «—— E
Q.A&Bare

A. BGO&B€3NQ
B. BeO& BeO,
C. BeO&Be(OH),

D. BegNQ&Be(OH)2


https://dl.doubtnut.com/l/_rZLFUspfSzyD
https://dl.doubtnut.com/l/_GOJVmRTt9dgD

Answer: A

° Watch Video Solution

Be dry air/A > A+ B H.,O C+ D
' XHC\
8 D+ HCl «—— E
Q.C&Dare

A. NH3&Be(OH),
B. Be(OH),&N Hs
C. NH;&HNO;

D. Be(OH),&BeO,


https://dl.doubtnut.com/l/_GOJVmRTt9dgD
https://dl.doubtnut.com/l/_8PDiq4bDiUkP

Answer: B

o Watch Video Solution

Be dry air/A »A+B H.,O C+ D
' XHC\
9 D+HCl«—>— E
Q.C&Dare
A.NH,OH
B. NH,Cl

C. NH,OH&NH,CI

D. BGCZQ


https://dl.doubtnut.com/l/_8PDiq4bDiUkP
https://dl.doubtnut.com/l/_DQSmWpu04OGg

Answer: B

o Watch Video Solution

Assignment Section E

1. Statement-1: 3M solution of alkali metal in liquid

ammonia has copper bronze colour.
Statement-2: copper bronze colour is due to the
formation of metal cluster.

A. Statement-1 is true, statement-2 is true,

statement-2


https://dl.doubtnut.com/l/_DQSmWpu04OGg
https://dl.doubtnut.com/l/_WQP6T1dvhXj2

B. Statement-1 is true, statement-2 is true,

statement-2 is not correct explanation for

statement-1

C. Statement-1 is true, statement-2 is false

D. Statement-1is false, statement-2 is true

Answer: A

o Watch Video Solution

2. Statement-1: Lithium is the strongest reducing

agent is aqueous solution.


https://dl.doubtnut.com/l/_WQP6T1dvhXj2
https://dl.doubtnut.com/l/_0VHmxQNGJS5A

Statement-2: Lithium cannot be obtained by

chemical reduction of its ore.

A. Statement-1 is true, statement-2 is true,

statement-2 is a correct explanation for

statement-1

B. Statement-1 is true, statement-2 is true,

statement-2 is not correct explanation for

statement-1

C. Statement-1 is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: B



https://dl.doubtnut.com/l/_0VHmxQNGJS5A

\ o Watch Video Solution

3. Assertion (A): Aqueous solution of NayCOs is

alkaline in nature.

Reason (R ): when dissolved in water, NayCOs

undergoes anionic hydrolysis.

A. Statement-1 is true, statement-2 is true,

statement-2 is a correct explanation for

statement-1

B. Statement-1 is true, statement-2 is true,

statement-2 is not correct explanation for


https://dl.doubtnut.com/l/_0VHmxQNGJS5A
https://dl.doubtnut.com/l/_VttsNuC8oNzq

statement-1

C. Statement-1 is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: A

° Watch Video Solution

4. Statement-1: Lithium has highest hydration
energy.

Statement-2: Lithium is the stronger reducing agent.


https://dl.doubtnut.com/l/_VttsNuC8oNzq
https://dl.doubtnut.com/l/_UxD7zqCdnLQs

A. Statement-1 is true, statement-2 is true,

statement-2 is a correct explanation for

statement-1

B. Statement-1 is true, statement-2 is true,

statement-2 is not correct explanation for

statement-1

C. Statement-1 is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_UxD7zqCdnLQs
https://dl.doubtnut.com/l/_dC2dZrFgiaTp

5. Statement-1: Be imparts colour to the bunsen

flame.

Statement-2: Be has very high ionisation energy.

A. (a) Statement-1 is true, statement-2 is true,

statement-2 is a correct explanation for

statement-1

B.(b) Statement-1 is true, statement-2 is true,

statement-2 is not correct explanation for

statement-1

C. (c) Statement-1is true, statement-2 is false

D. (d) Statement-1 is false, statement-2 is true


https://dl.doubtnut.com/l/_dC2dZrFgiaTp

Answer: D

o Watch Video Solution

6. Statement-1: Lattice energy of NaySO, is less
than its hydration energy.
Statement-2: lattice energy of BaSO, is less than its
hydration energy

A. Statement-1 is true, statement-2 is true,

statement-2 is a correct explanation for

statement-1


https://dl.doubtnut.com/l/_dC2dZrFgiaTp
https://dl.doubtnut.com/l/_6FiIQ01CiPKB

B. Statement-1 is true, statement-2 is true,

statement-2 is not correct explanation for

statement-1

C. Statement-1 is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: C

o Watch Video Solution

7.Statement-1: Lattice energy of BaSOy is less than
its hydration energy.

Statement-2: 'ALH@ ‘&‘Ahde@‘ both are smaller.


https://dl.doubtnut.com/l/_6FiIQ01CiPKB
https://dl.doubtnut.com/l/_zf4EomilX6ZJ

A. Statement-1 is true, statement-2 is true,

statement-2 is a correct explanation for

statement-1

B. Statement-1 is true, statement-2 is true,

statement-2 is not correct explanation for

statement-1

C. Statement-1 is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_zf4EomilX6ZJ

Assignment Section F

1. The ion that cannot undergo disproportionation is

A.CIO;
B.ClO;
C.ClO;

D.CIO~

Answer: A::B::C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_DIMGLKTHmlsT
https://dl.doubtnut.com/l/_h9yEm0X2sWzQ

2. Match the following

Column-i Column-i\
(A) Li+air—2 (o) Oxide
(B) Na+air—2 (@ Nitride

©) K +air—2— () Hydroxide

(D) Mg +air—2— (s) Carbonate

° Watch Video Solution

3. Calculate oxidation no. in given coordination

compound. Ni(CO),.

° Watch Video Solution

Assignment Section G



https://dl.doubtnut.com/l/_h9yEm0X2sWzQ
https://dl.doubtnut.com/l/_FdIWhBDPhTot
https://dl.doubtnut.com/l/_MgSyZ6FPQ8hw

1. The number of water of crystallisation in hypo

are

° Watch Video Solution

2. How many of the following are amphoteric oxides?

L’I:QO, NCLQOQ, BGO, Al203, MgO, BCLOQ

° Watch Video Solution

3. Be react with air, how many products will form?

° Watch Video Solution



https://dl.doubtnut.com/l/_MgSyZ6FPQ8hw
https://dl.doubtnut.com/l/_Fi6AQW6gfM2i
https://dl.doubtnut.com/l/_0IhKAHsp30Qf

4, Which is the weakest base among

NaOH, Ca(OH),, KOH and Be(OH),.

° Watch Video Solution

Assignment Section H

1. Statement-1: K5,CQO3 cannot be prepared by Le-
blanc method.

Statement-2: Sodium nitrate when heated gives
NO, gas.

Statement-3: NaQO, is paramagnetic while NasO, is

diamagnetic.


https://dl.doubtnut.com/l/_j2C3Urb2Trn6
https://dl.doubtnut.com/l/_moFqkLiluCnJ

A FFT

B.FTT

C.TFT

D.TTF

Answer: A

° Watch Video Solution

2. Statement-1: Pure NaCl is a diliquescent crystalline
solid.
Statement-2: Na,COjs is known as pearl ash.

Statement-3: Sulphur disproportionates in NaOH.


https://dl.doubtnut.com/l/_moFqkLiluCnJ
https://dl.doubtnut.com/l/_90ax7O5uonKu

A FFT

B.TTF

C.TFT

D. FFF

Answer: A

o Watch Video Solution

3. Statement-1: Hydroxides of group-2 are less
soluble in water than hydroxides of group-1.

Statement-2: C'aF; is least soluble in among other


https://dl.doubtnut.com/l/_90ax7O5uonKu
https://dl.doubtnut.com/l/_yZt4VghGWMPf

fluoride of group-2.

Statement-3: Li gives red coloured flame.

A TTF

B. TFF

C. FFF

D.TTT

Answer: D

° Watch Video Solution

4. Statement-1: Conc. Solution of Li in NHjs is

diamagnetic.


https://dl.doubtnut.com/l/_yZt4VghGWMPf
https://dl.doubtnut.com/l/_i7AWKowsvylg

Statement-2: Mg/ NHj; works as anti-
hydrogenation agent.
Statement-3: LiCl forms LiCl1.2H, 0.

A TFT

B. FTF

C.TTT

D. FFF

Answer: A

° Watch Video Solution

Assignment Section |


https://dl.doubtnut.com/l/_i7AWKowsvylg

1. Element (A) burns in nitrogen to give an ionic
compound, (B) reacts with water to give (C) and (D).
A solution of (C) becomes milky on bubbling carbon

dioxide. Idendity (A),(B),(C) and (D)

° Watch Video Solution

2. What happens when

(i) NaH reacts with water?

(ii) Sodium reacts with excess oxygen?

(iii) Water is dropped over sodium peroxide? Write

balanced chemical equation for each.

o Watch Video Solution



https://dl.doubtnut.com/l/_OHbH2pxNbJt2
https://dl.doubtnut.com/l/_qLkpIaaTHE60

3. Explain

(i) Why alkali metals are normally kept in kerosene
oil.

(ii) Why alkali metal impact colour to the flame?

(iii) Explain, why lithium chloride has more covalent
character than potassium chloride?

(iv) Why BeCOs is kept in an atmosphere of CO5?

o Watch Video Solution

4. Predict the outcome of the following reactions

and write balanced equations.


https://dl.doubtnut.com/l/_qLkpIaaTHE60
https://dl.doubtnut.com/l/_YGkXHyVxMAxH
https://dl.doubtnut.com/l/_lDd4ufFOONIZ

(i) BCLO2(S) + H2S04(aq) —

(i) Ba(NO3) -+ Na2504(aq) —

2(aq)

(iii) Ca(s) + Hs(g) + Heat —

° Watch Video Solution

5. Explain why both BeCO; and BeSO, are
unstable to heat, while BaCO3; and BaSO, are

stable.

° Watch Video Solution



https://dl.doubtnut.com/l/_lDd4ufFOONIZ
https://dl.doubtnut.com/l/_EBlDYBlF9UEW

6. Identify the element (X) in each of the following

(i) The reaction between metallic element(X) and
water is quite slow.

(ii) (X) is a reactive metal which forms three ionic
oxides with composition. Xs0, X0, and X505 the
perchlorate XClOy is insoluble in water.

(iii) (X) is the most abundant element in group 1.

(iv) the chemistry of (X) resembles that of

magnesium.

° Watch Video Solution



https://dl.doubtnut.com/l/_GSal5MdZL9CZ

7. identify the group 2 element 'X' in each of the
following

(i) The chemistry of X is quite different from that of
other element in the group.

(i) 'X' forms organometallic compound RXBr. Which

is very widely used?

o Watch Video Solution

8.1 g of magnesium was burnt in air and the ash
produced in extracted with excess of water when
8.96¢cm?® of ammonia is produced at STP. calculate

the amount of Mg, which was converted into


https://dl.doubtnut.com/l/_ifTO6Lvm1GU9
https://dl.doubtnut.com/l/_zMzyEPZXVHNF

magnesium nitride. Also calculate the amount of

MgO present in the ash.

° Watch Video Solution

9. Calcium burns in nitrogen to produce a white
powder which dissolves in sufficient water to
produce a gas (A) and alkaline solution. The solution
on exposure to air produce a thin solid layer of (B)

on the surface. Indentity the compound (A) and (B)

° Watch Video Solution



https://dl.doubtnut.com/l/_zMzyEPZXVHNF
https://dl.doubtnut.com/l/_p6eD1npW40pI

10. Complete the following reaction.

H.0 COc ) - Cofoy .
Ca0——» @—mﬁf mniky@% C\eac@

S0O,(g) . SO.(g) . .
mllky®———q> remains miky

° Watch Video Solution

Assignment Section )

1. Choose the correct statements among the

following :

A. Cs is best oxidising agent due to lowest I.E.


https://dl.doubtnut.com/l/_ioYHzf9sazu3
https://dl.doubtnut.com/l/_LzHhwajibj0s

B.Li" is best reducing agent due to highest
’Ahydﬂe‘

C.Li" is best reducing agent due to highest
ApyqH®

D.Cs™ is best oxidising agent due to low

’Ahde 9‘

Answer: B

o Watch Video Solution

2. In castner-Keliner cell when brine is electrolysed,

23g of sodium is released is released on cathode,


https://dl.doubtnut.com/l/_LzHhwajibj0s
https://dl.doubtnut.com/l/_w5fyPCzkHEj7

volume of Cly(g) released at 380 mm Hg at 0° C' will
be

A 224 L

B.11.2L

C.56L

D. 44.8L

Answer: A

° Watch Video Solution

air / A
3. Na(s) - —— product. Product will be


https://dl.doubtnut.com/l/_w5fyPCzkHEj7
https://dl.doubtnut.com/l/_rAlGfrlBVadx

A. NCL2O

B. Na202

C. NaOH

D. All of these

Answer: D

° Watch Video Solution

4. Which of these salts shows the least solubility in

water?

A. LiCl


https://dl.doubtnut.com/l/_rAlGfrlBVadx
https://dl.doubtnut.com/l/_Rwx6qHfaa32m

B. NaCl

C. KCl

D. RbCl

Answer: C

o Watch Video Solution

5. Order of lattice enthalpy is as

A. BeFy > MgFy > CaFy > SrF,

B. BeFy < MgF,; < CaFy < SrF,

C.InF < LiCl < LiBr < Lil


https://dl.doubtnut.com/l/_Rwx6qHfaa32m
https://dl.doubtnut.com/l/_hOaCxrdwB81O

D.Lil < LiBr < CsBr < Csl

Answer: A

o Watch Video Solution

6.In Solvay ammonia process, sodium bicarbonate is

precipitated due to

A. NaHCOg

B. NCIQCO?).].OHQO

C. NCLQCO:),

D. All of these


https://dl.doubtnut.com/l/_hOaCxrdwB81O
https://dl.doubtnut.com/l/_uEpAfB5U9e89

Answer: D

° Watch Video Solution

7. Alkali earth metals in ligq. NH3 produce a blue

coloured solution, due to

A. Polarisability of N Hj

B. Charge transfer

C. dtod transition

D. Ammoniated electrons

Answer: D



https://dl.doubtnut.com/l/_uEpAfB5U9e89
https://dl.doubtnut.com/l/_v7YX5UtG7Zkj

| QJ Watch Video Solution

dry. Air / A
8. Mg—" A+B

A.A & B are MgO & M gO,
B.A& B are MgO,&Mg(OH),
C. A+B are MgO + Mgs N,

D.A & B are MgO5& M g3 N,

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_v7YX5UtG7Zkj
https://dl.doubtnut.com/l/_NR0NRgxt4CyU

9. s-block contains the element

A. With stable nuclei

B. With unstable nuclei

C. With radio active nuclei

D. With acidic nature

Answer: A::B::C

° Watch Video Solution

10. M g3 P> on hydrolysis produces


https://dl.doubtnut.com/l/_VIAjtKIbYn4b
https://dl.doubtnut.com/l/_ghk47SGEBEBn

A.Mg(OH),
B. MgO
C. PH,

D. P203

Answer: A::C

° Watch Video Solution

1. What are s-block elements ? Write their general

electronic configurations.


https://dl.doubtnut.com/l/_ghk47SGEBEBn
https://dl.doubtnut.com/l/_7P390w1kGzNH

° Watch Video Solution

2. Name alkali metals in increasing order of atomic

number.

° Watch Video Solution

3. Which element of group 2 is not considered as

alkaline earth metal?

° Watch Video Solution



https://dl.doubtnut.com/l/_7P390w1kGzNH
https://dl.doubtnut.com/l/_vhmgkpGuft7C
https://dl.doubtnut.com/l/_O2XjqhIbN4XF

4. The general electronic configuration of s-block

elements IS eveeeeeeeenee )

° Watch Video Solution

5. Lithium exhibits diagonal relationship with

° Watch Video Solution

6. Why are alkali metals not found in nature ?

° Watch Video Solution



https://dl.doubtnut.com/l/_fi8ItFYLNjIJ
https://dl.doubtnut.com/l/_P5WIw4uZYCOP
https://dl.doubtnut.com/l/_Js5ffHAce32A
https://dl.doubtnut.com/l/_eHoXpOK0ne1R

7. The alkali metals are soft due to-

° Watch Video Solution

8. Why do alkali metals respond to flame test?

° Watch Video Solution

9. How flame test helps in distinguishing alkali

metals?

° Watch Video Solution



https://dl.doubtnut.com/l/_eHoXpOK0ne1R
https://dl.doubtnut.com/l/_UmQy4EZGKUmu
https://dl.doubtnut.com/l/_A74wEUcn2mz6

10. Why do alkali metal tarnishes in air?

° Watch Video Solution

11. Name the product formed when alkali metals

reacts with water.

° Watch Video Solution

12. The alkali metal halides are ionic or covalent?

° Watch Video Solution



https://dl.doubtnut.com/l/_psXClhXJrLmr
https://dl.doubtnut.com/l/_gap3Jwy6eZFC
https://dl.doubtnut.com/l/_Y1bAEtrXTo5A
https://dl.doubtnut.com/l/_q0xQbE60K9h0

13. What kind of oxides are formed by lithium?

° Watch Video Solution

14. What are oxo-acids?

° Watch Video Solution

15. Why does lithium exhibit anomalous properties ?

° Watch Video Solution



https://dl.doubtnut.com/l/_q0xQbE60K9h0
https://dl.doubtnut.com/l/_xmEKWTk8HauT
https://dl.doubtnut.com/l/_97USjUHkZBQL

16. Which process is used for preparation of sodium

carbonate ?

° Watch Video Solution

17. What impurities are present in brine solution?

° Watch Video Solution

18. Which cell is used for manufacture of sodium

hydroxide.

° Watch Video Solution



https://dl.doubtnut.com/l/_OBcDqbTZNR2z
https://dl.doubtnut.com/l/_0UFjOQCQQHOs
https://dl.doubtnut.com/l/_utQJ3iwKAMS7

1. Among the following which element is the rarest

of all ?

A. Na

B.Cs

C.Fr

D.K

Answer: C

0 Watch Video Solution



https://dl.doubtnut.com/l/_utQJ3iwKAMS7
https://dl.doubtnut.com/l/_PXwlLQ7U69af

2. Among the chlorides of alkali metals, what is the

decreasing order of hydration ?

A. NaCl > RbCl > LiCl > CsCl

B. LiCl > CsCl >KCI| > RbCIl >NacCl

C. LiCl > NaCl > KCl > RbCl g>CsCl

D. All are equatlly hydrated as halide is same

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_PXwlLQ7U69af
https://dl.doubtnut.com/l/_g4dAz1oCrLP9

3. What is the correct order of density ?

A.Li > Na>K

B.K > Na > Li

C.Na> K> Li

D.Na =K< Li

Answer: C

o Watch Video Solution

4. Among the following which

superoxides of type MO, ?

metal

forms


https://dl.doubtnut.com/l/_rEiRPNoQ76va
https://dl.doubtnut.com/l/_9eCe2EckzMoY

A K

B.Rb

C.GCs

D. All of these

Answer: D

° Watch Video Solution

5. The alkali metal halides are ionic or covalent ?

A. LiCl

B. Nal


https://dl.doubtnut.com/l/_9eCe2EckzMoY
https://dl.doubtnut.com/l/_akh9KNCLjtSA

C. Ki

D. Lil

Answer: D

o Watch Video Solution

6. the concentrated solution of alkali metals in liquid

ammonia becomes blue due to

A. Ammoniated electron

B. Ammoniated metal cations

C. Diamagetic nature of solution


https://dl.doubtnut.com/l/_akh9KNCLjtSA
https://dl.doubtnut.com/l/_lCK5qDEGEI86

D. Alkaline nature of metal

Answer: A

o Watch Video Solution

7. What is correct statement ?

A.lodides of alkali metals have highest ionic

character among halides

B. LiF is highly soluble in H,O

C.Low solubility of Csl is due to smaller

hydration enthalpy of its two ions


https://dl.doubtnut.com/l/_lCK5qDEGEI86
https://dl.doubtnut.com/l/_bnIyV6lzdfec

D. All of these

Answer: C

o Watch Video Solution

8. The hybridisation fo BeC(Cl, in solid state and
above 1200 K is respectively

A. sp3, sp3

B. sp3, sp2

C. spz, sp2

D. sp3, Sp


https://dl.doubtnut.com/l/_bnIyV6lzdfec
https://dl.doubtnut.com/l/_2aRhu1H0PZhf

Answer: D

° Watch Video Solution

9. On heating alkali metal nitrated product formed

are (except LiNOs)

A. NO, and O, only

B. NO, only

C. NO5y and MO only

D. MN02 and 02

Answer: D



https://dl.doubtnut.com/l/_2aRhu1H0PZhf
https://dl.doubtnut.com/l/_o2JlcV3blWDD

| QJ Watch Video Solution

10. Paramagnetic behaviour of KO, is due to the

fact that unpaired electron is present in

A. 2p molecular orbital

B. ™ - 2p molecular orbital

C. 02p molecular orbital

D. o - 2p molecular orbital

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_o2JlcV3blWDD
https://dl.doubtnut.com/l/_hsVL6PKEeuWs
https://dl.doubtnut.com/l/_69uAOduiYdac

11. Aqueous soultion of soda lime is

A. Acidic

B. Alkaline

C. Neutral

D. Initially acidic changes to alkaline after some

time

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_69uAOduiYdac

12. On heating gypsum above 393 K, the product

formed is

A.2(CaSO,)H,0
1

B. CaSO4 Hy0

C.CaSO,H,0

D. Dead bumt plaster

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_NTaGW1gPptYl

13. In which process Ca(OH), is used to produce
NHj?

A. Solvay process

B. Bosch process

C. Lane's process

D. Castner - Kellner process

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_U5xjQsvF6Kta

14. Which of the following carbonate is thermally

most unstable?

A. BeCO;

B. CGCOg

C. K,CO4

D. Rb,CO4

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_uktEXlazQj3T

15. Given two reaction, describe them

(i) NCLQCOg + 2H20 — 2NaOH + HQCO3

(i) CuSO4 + 5H,0 — CuS04.5H,0

A. Both are hydration reactions

B. Both are hydrolysis reactions

C. Both are crystallisation reactions

D. Reaction (i) is hydrolysis and reaction (ii) is

hydration to from hydrated sait

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_p3RmGTTgTJIT

16. The aqueous solution of baking soda is

A. Acidic

B. Alkaline

C. Neutral

D. Amphoteric

Answer: B

o Watch Video Solution

17. Halides of Be dissolve in organic solvent while of

Ba do not


https://dl.doubtnut.com/l/_LtqS8xbnRNIf
https://dl.doubtnut.com/l/_oiK2B3pnEH9L

A. High hydracation energy of Be halides

B. High lattice energy of barium halides

C. Large size of Ba®™"

D. Halides of Be are covvalent but that of Ba are

ionic

Answer: D

o Watch Video Solution

Which metal among the following cannot undergo

this reacton at high temperatures ?


https://dl.doubtnut.com/l/_oiK2B3pnEH9L
https://dl.doubtnut.com/l/_irr58bKpWK1p

A. Mg

B. Ba

C.Be

D. Ca

Answer: C

° Watch Video Solution

19. The ratio of moles of water as water of

crystallisation in LiCl and BaCl; is

A l:1


https://dl.doubtnut.com/l/_irr58bKpWK1p
https://dl.doubtnut.com/l/_jcZoWtUWJT71

B.1:2

C.1:4

D.1:3

Answer: A

° Watch Video Solution

20. Ca is the good reducing agent, because

A. It has small size

B. It is the first member of group 2

C. It has one electron in outermost shell


https://dl.doubtnut.com/l/_jcZoWtUWJT71
https://dl.doubtnut.com/l/_9R0VSt8Yl8MO

D. It has the negative reduction potential

Answer: D

° Watch Video Solution

Assignment Section A

1. The increasing order of the density of the alkali

metal is

A L: < No< K < Rb< Cs

B.Cs < Rb< K < Na < Lz


https://dl.doubtnut.com/l/_9R0VSt8Yl8MO
https://dl.doubtnut.com/l/_BZcAsoHsQP8E

C.Li < K< Na< Rb< Cs

D.K < Na < Li < Rb< Cs

Answer: C

° Watch Video Solution

2. Which one of the following alkali metals is the

most metallic?

A. Li

B. Na

C.K


https://dl.doubtnut.com/l/_BZcAsoHsQP8E
https://dl.doubtnut.com/l/_ESL4xIfoXa2x

D.Cs

Answer: D

o Watch Video Solution

3. The metallic lustre exhibited by sodium is

explained by

A. Diffusion of Na ™ ions

B. Oscillation of loose electrons

C. Excitation of free protons

D. Existence of body centred cubic lattice


https://dl.doubtnut.com/l/_ESL4xIfoXa2x
https://dl.doubtnut.com/l/_2R9QhAOlGZof

Answer: B

° Watch Video Solution

4. Which one of the following ions has the largest

size in aqueous solution?

A Rb™

B.Na™

CKT™

D.Li"

Answer: D



https://dl.doubtnut.com/l/_2R9QhAOlGZof
https://dl.doubtnut.com/l/_8lCmQUvbfYVH

| QJ Watch Video Solution

5. Which among the following is the strongest

reducing agent?

A. K

B. Na

C. Al

D. Mg

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_8lCmQUvbfYVH
https://dl.doubtnut.com/l/_u14KtlvT8uO4
https://dl.doubtnut.com/l/_FauBcCVg8Pgm

6. Sodium chloride imparts a yellow colour to the

Bunsen flame .This can be interpreted due to the

A. Sublimation of metallic sodium to give yellow
vapour

B. Photosenstivity of sodium

C. Low ionization potential of sodium

D. Emission of excess of energy absorbed as a

radiation in the visible region

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_FauBcCVg8Pgm

7. Which of the following oxides is most basic ?

A. NCL2O

B. BeO

C. Li,O

D. H,O

Answer: A

o Watch Video Solution

8. Which among Na, K,(Cs and Li forms most

stable hydride?


https://dl.doubtnut.com/l/_2V62iF4wmOeF
https://dl.doubtnut.com/l/_g7Jk9OmD47b5

A. Lii |

B.KH

C.NaH

D. CsH

Answer: A

o Watch Video Solution

9. K;,C'O3 cannot be prepared by solvay's process

because

A. K;,CQOj5 is more soluble


https://dl.doubtnut.com/l/_g7Jk9OmD47b5
https://dl.doubtnut.com/l/_fIUBRWVy9oPs

B. K;,COs is less soluble

C. KHCQOj5 is more soluble than NaHCOs

D. KHCOs is less solubie than NaHCOs

Answer: C

° Watch Video Solution

10. Which decomposes on heating-

A. NaOH

B. KOH

C. LiOH


https://dl.doubtnut.com/l/_fIUBRWVy9oPs
https://dl.doubtnut.com/l/_qa8kkgoUlMlF

D. RbOH

Answer: C

o Watch Video Solution

11. Solvay process is used for the manufacture of

A. Sodium metal

B. Washing soda

C. Bleaching powder

D. Quick lime

Answer: B


https://dl.doubtnut.com/l/_qa8kkgoUlMlF
https://dl.doubtnut.com/l/_WCwm74Fou1uW

° Watch Video Solution

12. In the manufacture of sodium hydroxide by

product obtained is

A. O,

B. Cl,

C. Na2 003

D. NaCl

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_WCwm74Fou1uW
https://dl.doubtnut.com/l/_w02RZ8CX8aln

13. Which of the following alkali metal bicarbonates

readily decomposes?

A LiHCOq

B. KHCO;

C. CsHCO;

D. NG,HCO?,

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ClYfP1ka4syH

14. Which of the alkali metals has the polarizing

power close to that of Magnesium ?

A. Lithium

B. Sodium

C. Potassium

D. Caesium

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_iGnkSSrUT7oF

15. In the preparation of sodium carbonate

(NayCO3) which of the following is used as raw

material?
A. Slaked lime
B. Brine
C. Quick lime

D. Sodium hydroxide

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_J489nlxF5tIL

16. Which of the following halides has the highest

meting point ?

A. NaCl

B. NaBr

C. NaF

D. Nal

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_nJwrLsZfW5sX

17. The first ionization energies of alkaline earth
metal are higher than those of the alkali metals. This
is because:
A.Thoro is increase in the nuclear charge of the
alkaline earth metals
B. There is decrease in the nuclear charge of the
alkaline earth metals
C. There is no change is the nuclear charge

D. All of these

Answer: A

[ o WMilabklla. \ 2 daa Ol ki am



https://dl.doubtnut.com/l/_Y4XNyO15G0Rb

L ___VVdl\lll VIUCUV JUIULIVII

18. Why does magnesium form Mg¢?" and not Mg ™

?
A. be
B. Mg
C.Ca
D. Ba
Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Y4XNyO15G0Rb
https://dl.doubtnut.com/l/_c3kR9Vhz4dG3
https://dl.doubtnut.com/l/_J907pdIyLZSh

19. Why does magnesium form Mg® " and not Mg ™
?
A. Magnesium (ll) is insoluble in water
B.Commonly higher oxidation states are
preferred by metals
C.lonic radius of Mg(ll) is samller than that of
Mg(l)

D. High hydration energy as well as high latice

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_J907pdIyLZSh
https://dl.doubtnut.com/l/_enxFyZ9Nt1pB

20. Which of the following alkaline earth metals do

not impart any color to the flame?

A. Be

B. Mg

C.Ca

D. Sr

Answer: B

° Watch Video Solution

21. Lime water is an aqueous solution of


https://dl.doubtnut.com/l/_enxFyZ9Nt1pB
https://dl.doubtnut.com/l/_xp5P4tmbMYUL

A. MgSO4
B.Ca(OH),
C.CaCO3

D. CaSOy,

Answer: B

° Watch Video Solution

22. Which one of the following chlorides has

maximum tendency to from hydrate ?

A. BaC’l2


https://dl.doubtnut.com/l/_xp5P4tmbMYUL
https://dl.doubtnut.com/l/_fXKPsvWUA8Rd

B. NaCl

D. Licl

Answer: C

° Watch Video Solution

23. Setting of plaster of paris is

A. Oxidation with atmospheric oxygen

B. Combination with atmospheric CO,

C. Dehydration


https://dl.doubtnut.com/l/_fXKPsvWUA8Rd
https://dl.doubtnut.com/l/_Q5YDWsQYB0j4

D. Hydration

Answer: D

o Watch Video Solution

24. Dead burnt plaster is

A.CaCOs

1
B.CaSO,. EHzO
C. C&SO42HQO

D. CCLSO4

Answer: D


https://dl.doubtnut.com/l/_Q5YDWsQYB0j4
https://dl.doubtnut.com/l/_vPkDOnQN2lXf

° Watch Video Solution

25. Identify the unknown product (X) in the folowing
reaction
milk of lime +Cly — X + CaCl, + H,0

A. Ca(Ocl),

B.Ca(OH),

C.Cao

D. CaCOs

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_vPkDOnQN2lXf
https://dl.doubtnut.com/l/_42Peq3llTYso

26. Formula of gypsum salt is

A.CaSO42H,0
1

B.CaSO, §H2O

C.2CaSO4H,0

D. CCLS’LOg

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_42Peq3llTYso
https://dl.doubtnut.com/l/_sCsXC4IQyomS

27. Which of the following hydroxides is the most
soluble in water ?

A.Mg(OH),

B.Sr(OH),

C.Ca(OH),

D. Ba(OH),

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_eOqAyHnbV7vg

28. Which of the following metals is most commonly

used | photochemical cells?

A. Lithium

B. Calcium

C. Caesium

D. Francium

Answer: C

o Watch Video Solution

29. Which of the following is an amphoteric oxide?


https://dl.doubtnut.com/l/_AzAqIYcSh1QG
https://dl.doubtnut.com/l/_seLVJM2n1jYT

A. CaO

B. NaOH

C.BeO

D. LiOh

Answer: C

o Watch Video Solution

30. Which of the following statements is/are true for

all the alkali metals ?


https://dl.doubtnut.com/l/_seLVJM2n1jYT
https://dl.doubtnut.com/l/_LHniwRe1KmSf

A.Their nitrates decomose on heating to give

N02 and 02

B. Their carbonates decompose on heating to

give CO5 and metal oxide

C.They react with oxygen to give mainly the

oxide MO,

D. They react with halogens to give haildes M X

Answer: D

° Watch Video Solution

Assignment Section B



https://dl.doubtnut.com/l/_LHniwRe1KmSf

1. Among the nitrate of alkali metals which one can

be decomposed to its oxide on strong heating?

A LiNO,

B. NCLN03

C. KNO;

D. RONO3

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_kfhgAFYKsOLn

2. which among the following does not at all show

the tendency to form peroxides?

A.Li

B. Mg

C.Be

D. Ba

Answer: D

o Watch Video Solution

3. Which one of the following statements is correct?


https://dl.doubtnut.com/l/_rYEHzl3oOCAI
https://dl.doubtnut.com/l/_c57csQCd5emY

A. Are all hygroscopic in nature

B. Increase in littice enthalpy  from

B€Cl2 — BCLClQ

C. Decrease in m.p. from BeCly, — BaC(Cl,

D. Are all insouble except BaC'iq

Answer: A

o Watch Video Solution

4. The solubility of most of the alkali metal halides

except those of  decreases on descending the

group.


https://dl.doubtnut.com/l/_c57csQCd5emY
https://dl.doubtnut.com/l/_akzPCWrN9ttq

A.NaCl > KCl > RbCl > CsCl

B.CsCl > RbCl > KCIl > NaCl

C. KCl > NaCl > RbCIl > CsCl

D.CsCl > RbCl > NaCl > KCI

Answer: D

o Watch Video Solution

5. The thermal stability order of the carbonates is

A. NayCO3 > K7CO3 > BeCO3 > BaCO;

B. KoCO3 > NayCO3 > BaCO3 > BeCOs


https://dl.doubtnut.com/l/_akzPCWrN9ttq
https://dl.doubtnut.com/l/_pLVt0wUfcuX6

C. BaCOg > BGCO3 > KgCOg > NCLQCO3

D. BBCO?, > N&gCOg > BCLCOg > K2CO3

Answer: B

o Watch Video Solution

6. The thermal stability of alkaline earth metal

carbonates increases from Be to Ba. This is because

A. Covalent nature decreases and lonic nature

increases

B. Lattice energy increases


https://dl.doubtnut.com/l/_pLVt0wUfcuX6
https://dl.doubtnut.com/l/_CZHzzArSa1wg

C. Electropositive nature decreases

D. None of these

Answer: A

o Watch Video Solution

7. The solubility of sulphates in water decreases

from MgSO, — BaSOy It is due to the fact that

A. lonic nature increases

B. Size of M2 ion increases

C. Lattice energy decreases


https://dl.doubtnut.com/l/_CZHzzArSa1wg
https://dl.doubtnut.com/l/_uKF3awAnz2bg

D. Hydraction enthalpy of M*" ions decreases

Answer: D

o Watch Video Solution

8. Which of the following order is correct for thermal

stability?

A. MQCO3 < CGCOg < 36003

B.BeCO3 < MgCO3 < CaCOs

C.CACO; < BeCO; < MgCOs

D.CACO3; < MgCO3 < BeCOs


https://dl.doubtnut.com/l/_uKF3awAnz2bg
https://dl.doubtnut.com/l/_9tTOEdQ27Bt8

Answer: B

o Watch Video Solution

9. Which one of the following statements

concerning the compounds of Lithium is false?

A. The hydroxide, Carbonate, nitrate, decompose

to give the oxide on heating

B. It is the most electronegative among alkali

C. The hydrogen carbonate cannot be isolated as

a stable solid

D. It forms a peroxide but not superoxide


https://dl.doubtnut.com/l/_9tTOEdQ27Bt8
https://dl.doubtnut.com/l/_CvBwl2cey8fg

Answer: D

o Watch Video Solution

10. Which of the following statements is incorrect

for Be?

A. Most of its compounds are largely covalent

B. BeCls has bridged covalent structure and is a

linear molecule above 1200 K

C.It has distintive group properties due to

samller size and high electronegativity


https://dl.doubtnut.com/l/_CvBwl2cey8fg
https://dl.doubtnut.com/l/_xcIP7qiSNwUJ

D. It from Be?™ ions because of the lower value

the sum of Ist and 2nd L.E.

Answer: D

° Watch Video Solution

11. Which of the following is not an acidic salt ?

A. N(LHgPOQ

B. NO,H2P03

C. NCI,H2PO4

D. NCL2HPO4


https://dl.doubtnut.com/l/_xcIP7qiSNwUJ
https://dl.doubtnut.com/l/_FduX2JYX6fGv

Answer: A

° Watch Video Solution

12. Baking soda is

A. NacCl

B. NO,HCO?,

C. Na2504

D. Na2 003

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_FduX2JYX6fGv
https://dl.doubtnut.com/l/_6mpi07c2CWKR

13. Give reason for the following:

(a) Sodium metal is kept immersed in kerosene.

(b) Blue colour of copper sulphate disappers when a

some aluminium powder is added in it.

A. Alcohol

B. Kerosene oil

C. Water

D. Petrol

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_6mpi07c2CWKR
https://dl.doubtnut.com/l/_EVsYcaHN6akg

14. Metallic magnesium is prepared by-

A. Displacement of Mg by iron from MgSO,
solution

B. Electrolysis of an aqueous solution os
Mg(NOs),

C. Electrolysis of molten MgCl,

D. Reduction of MgO by almunium

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_EVsYcaHN6akg
https://dl.doubtnut.com/l/_nsc934P1QBJQ

15. Chemical A is used for water softening to remove
temporary hardness. A reacts with sodium
carbonate to generate caustic soda. When CO, is
bubbled through a solution of A, it turns cloudy.

What is the chemical formula of A ?

A. CaCO4
B.CaO
C.Ca(OH),

D. Ca(HCO;),

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_oI74nkfUbTqK

16. Alums are not formed by which alkali metal ?

A.Li

B.K

C. Na

D.Cs

Answer: A

° Watch Video Solution

17. Epsom salt is


https://dl.doubtnut.com/l/_oI74nkfUbTqK
https://dl.doubtnut.com/l/_22kDj0f8dXDu
https://dl.doubtnut.com/l/_eIG7diSDOLvP

A. MgSO4 7H20
B. Mg(OH),
C.2CaS0O4 H,0

D. BaSO,

Answer: A

° Watch Video Solution

18. The molecular formula of Glauber's salt is

A. MgSO4 7H2O

B.CuSO, 5H50


https://dl.doubtnut.com/l/_eIG7diSDOLvP
https://dl.doubtnut.com/l/_tzlRSwQERRYt

C. FGSO4 7H20

D. Na,SO, 10H,0

Answer: D

° Watch Video Solution

19. Electrolysis of KCI. MgCl,. 6H,0 gives

A. Mg only
B. K only
C.Kand Mg only

D. Mg, K and Cl,


https://dl.doubtnut.com/l/_tzlRSwQERRYt
https://dl.doubtnut.com/l/_XwzkdKRYpCTX

Answer: D

° Watch Video Solution

20. Dehydration of hydrates of halides of calcium,
barium and strontium ie.,
CaCl,. 6H,0, BaCI,.2H50, SrC1,.2H,0, can be
achieved by heating. These become wet on keeping
in air. Which of the following statements is correct

about these halides?

A. Smaller ionic size

B. Increased charge on ions


https://dl.doubtnut.com/l/_XwzkdKRYpCTX
https://dl.doubtnut.com/l/_e2tJLuWyK5LS

C. Highher hydration enthapaies

D. High oxidation potential

Answer: C

o Watch Video Solution

21. Compared with the alkaline earth metals, the

alkali metals exhibit

A. Geater hardness

B. Higher m.p.

C. Smaller lonic radil


https://dl.doubtnut.com/l/_e2tJLuWyK5LS
https://dl.doubtnut.com/l/_cWsofJKBbfSw

D. Lower ionization energy

Answer: D

o Watch Video Solution

22. Which is not the compound of sodium?

A. Chlle salt petre

B. Salt petre

C. Glauber's salt

D. Soda ash

Answer: B


https://dl.doubtnut.com/l/_cWsofJKBbfSw
https://dl.doubtnut.com/l/_vF4j8Ma28qYx

° Watch Video Solution

CaCO, =+A+8B,,

H, '

23, 40°C

Product D is
A. CaCls
B.Ca(OH),
C.CaCloHH->0

D. CaOCl;

Answer: D


https://dl.doubtnut.com/l/_vF4j8Ma28qYx
https://dl.doubtnut.com/l/_b1sQxIZpRztX

° Watch Video Solution

24. Draw 1,3-Dibromo- benzene

° Watch Video Solution

25. How does the basic character of oxides of group

2 elements vary on moving down the group ?

A. MgO

B. CaO

C.SrO


https://dl.doubtnut.com/l/_b1sQxIZpRztX
https://dl.doubtnut.com/l/_lM9v2K3HNn5r
https://dl.doubtnut.com/l/_5kxYncLej6Bv

D. BaO

Answer: A

° Watch Video Solution

26.Beryllium on ignition in air gives

A. BeO

B. B€3N2

C. Both (a) & (b)

D. BeC

Answer: C


https://dl.doubtnut.com/l/_5kxYncLej6Bv
https://dl.doubtnut.com/l/_LbYJbc2J9115

° Watch Video Solution

27. Na2003 + HQO + 002 — (A)
crystalline powder (A) on reaction
phenolphthalein gives

A. Pink colour

B. Yellow colour

C. Orange colour

D. No colour

Answer: A

White

with

0 Watch Video Solution



https://dl.doubtnut.com/l/_LbYJbc2J9115
https://dl.doubtnut.com/l/_3p1KCfXyZXik

28. Write the chemical equation of preparation of
baking soda. What are the uses of baking soda ?

A. Starch

B. Ca(H2P04)2

C. NGHCOg

D. All of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_3p1KCfXyZXik
https://dl.doubtnut.com/l/_vbSWUpxyQHfO

29. Which of the following statements is true?

A. NaHCOs is strongly basic in nature

B. Pure NaCl is hygroscopic

C.On increasing temperature increase

solubility of NaCl in water occurs

D. All of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_jts0fHSCJTiJ

30. On heating sodium hydrogen carbonate, the

products formed are

A. NasO + CO, + H,0

B. NCI,QCOg + 002

C. Na2003 + HzO + COQ

D. NCLzCOg + HgO

Answer: C

° Watch Video Solution

Assignment Section C



https://dl.doubtnut.com/l/_ELgfmUOc5aSZ

1. lonic mobility of which of the following alkali metal

ions is lowest when aqueous solution of their salts

are put under an electric field ?

A. Na

B.K

C.Rb

D. Li

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_EhXnuxH15iJY

2. Suspension of slaked lime in water is known as

A. Limewater

B. Quicklime

C. Milk of time

D. Aqueous solution of siaked lime

Answer: C

o Watch Video Solution

3. In context with beryllium, which one of the

following statements is incorrect ?


https://dl.doubtnut.com/l/_gEILpFY7njJ5
https://dl.doubtnut.com/l/_C7Q1yCu7lVsl

A. It is rendered passive by nitric acid

B. It form Be,C

C. Its salts rarely hydrolyze

D. Its hydride is electron-deficient and polymeric

Answer: C

o Watch Video Solution

4. Which of the following statement is false?

A. Mg ions are important in the green parts

of plants


https://dl.doubtnut.com/l/_C7Q1yCu7lVsl
https://dl.doubtnut.com/l/_hWmYT676H4LB

B. Mg ions from a complex with ATP
C.Ca’" ions are important in blood clotting
D.Ca®" ions are not important in maintainning

the regular beating of the heart

Answer: D

o Watch Video Solution

5. On heating which of the following releases C'O,

most easily ?

A M9003


https://dl.doubtnut.com/l/_hWmYT676H4LB
https://dl.doubtnut.com/l/_3uIorZs6h3W4

B. CCLCO?,

C. K,CO4

D. NCLQ 003

Answer: A

° Watch Video Solution

6. The function of Sodium pump is a biological
process operating in each and every cell of all
animals. Which of the following biologicaly

important ions is also constant f this pump ?

A Fe?™


https://dl.doubtnut.com/l/_3uIorZs6h3W4
https://dl.doubtnut.com/l/_4w3iO4MIbOpB

B.Ca’™
C.Mg>™"

D.K*

Answer: D

° Watch Video Solution

7.Solubility of the alkaline earth's metal sulphates in

water decreases in the sequence

A.Ba > Mg > Sr > Ca

B.Mg > Ca > Sr > Ba


https://dl.doubtnut.com/l/_4w3iO4MIbOpB
https://dl.doubtnut.com/l/_qPB1dDyK2gmy

C.Ca > Sr > Ba > Mg

D.Sr > Ca > Mg > Ba

Answer: B

o Watch Video Solution

8. Which one of the alkali metals forms only the

normal oxide, M50, on heating in air ?

A. Li

B. Na

C.Rb


https://dl.doubtnut.com/l/_qPB1dDyK2gmy
https://dl.doubtnut.com/l/_bgIGJCAyDoRR

D.K

Answer: A

o Watch Video Solution

9. Equimolar solution of the following substances

were prepared separately. Which one of these will

record the highest pH value?

A. LiCl

B. BGCl2

C. BCLClQ


https://dl.doubtnut.com/l/_bgIGJCAyDoRR
https://dl.doubtnut.com/l/_HX7nuA2wdyaP

D. AlCl,

Answer: C

o Watch Video Solution

10. Which of the following compounds has the

lowest melting point ?

A. CaF 2

B. CaCl,

C. CCLB’I"z

D. C’al2


https://dl.doubtnut.com/l/_HX7nuA2wdyaP
https://dl.doubtnut.com/l/_awsUoIGGGGLn

Answer: D

° Watch Video Solution

11. Which one of the following is present as an active

ingredient in bleaching powder for bleaching action
?

A. CCLClQ

B. CG,OCZQ

C.Ca(Ocl),

D. CCLOQCZ


https://dl.doubtnut.com/l/_awsUoIGGGGLn
https://dl.doubtnut.com/l/_rHgGIPnvelhY

Answer: C

o Watch Video Solution

12. Which of the following statement is incorrect ?

A. Almunium reacts with excess NaOH to give
Al(OH),

B. NaHC O3 on heating gives NayC'O5

C. Pure sodium metal dissolves in liquid ammonia
to give blue solution

D. NaOH reacts with glass to give sodium silicate


https://dl.doubtnut.com/l/_rHgGIPnvelhY
https://dl.doubtnut.com/l/_xbaKOyUOjzty

Answer: A

o Watch Video Solution

13. Match list-l with list-ii for the composition of

substances and select the correct answer using the

code given below the lists

List-
(Substances)

(&) Plaster of paris

(B) Epsomite

(C) Kieserte
(D} Gypsum
(1) Ali), B#W), Cliug, D{iv)

List-ll
{Cdmpusitinn] '
() CaSQ,.2HO
1
2
{iii} Mg50,. TH,O
(v) MgSO,. HO

) CasS0, - HO


https://dl.doubtnut.com/l/_xbaKOyUOjzty
https://dl.doubtnut.com/l/_MkiH9LZ1WfMg

A. A(i), B(ii), C(iii), D(iv)

B. A(iv), B(iii), C(ii),D(i)

C. A(iii), B(iv), C(i), D(ii)

D. A(ii), B(iii), C(iv), D(i)

Answer: D

o Watch Video Solution

14. Which one of the following alkaline earth metal
sulphates has its hydration enthalpy greater than its

lattice enthalpy ?


https://dl.doubtnut.com/l/_MkiH9LZ1WfMg
https://dl.doubtnut.com/l/_2eg9eh8T8fqN

A. CCLSO4

B. 36504

C. BCLSO4

D. 5750,

Answer: B

° Watch Video Solution

15. Property of the alkaline earth metals that
increases down the group with their atomic number

is


https://dl.doubtnut.com/l/_2eg9eh8T8fqN
https://dl.doubtnut.com/l/_SZJMmjy4XdMz

A. Solubility of their hydroxides in water

B. Solubility of their sulphates in water

C. lonization energy

D. Electronegativity

Answer: A

o Watch Video Solution

16. Which one of the following compounds is a

peroxide?

A. KO,


https://dl.doubtnut.com/l/_SZJMmjy4XdMz
https://dl.doubtnut.com/l/_Zm6jNmds38aX

B. BCLOQ

C. M’I’LOQ

D. NO,

Answer: B

° Watch Video Solution

17. The compound A on heating gives a colourless
gas and a residue that

dissolved in water to obtain B. Excess of CO, is
bubbled through aqueous solution of B,C is formed

which is recovered in the solid form.


https://dl.doubtnut.com/l/_Zm6jNmds38aX
https://dl.doubtnut.com/l/_YXAxdGGBibUP

Solid C on gentle heating gives back A. The

compound is:-

A.CaCO3

B. Na2003

C. K,COg

D. CCLSO42H2O

Answer: A

° Watch Video Solution

18. Which of the following oxides is not expected to

reast with sodium hydroxide ?


https://dl.doubtnut.com/l/_YXAxdGGBibUP
https://dl.doubtnut.com/l/_SidaChfwpASW

A. CaO

B. 570,

C.BeO

D. 3203

Answer: A

° Watch Video Solution

19. The alkali metals from salt like hydrides by the
direct synthesis at elevated temperature. The
thermal stability of these hydrides decreases in

which of the following orders ?


https://dl.doubtnut.com/l/_SidaChfwpASW
https://dl.doubtnut.com/l/_gHcoomaGeMle

A.LiH > NaH > KH > RbH > CsH

B.CsH > RbH > KH > NaH > LiH

C.KH > NaH > LiH > CsH > RbH

D. NaH > LiH > KH > RbH > CsH

Answer: A

o Watch Video Solution

20. In which of the following the hydration energy is

higher than the lattice energy ?

A. STSO4


https://dl.doubtnut.com/l/_gHcoomaGeMle
https://dl.doubtnut.com/l/_vNOvx979uRja

B. BCLSO4

C. MQSO4

D. RCLSO4

Answer: C

° Watch Video Solution

21. The correct order of increasing thermal stability

of KoCO3, MgCQO3, CaCO3 and BeCOs is

A K;CO3 < MgCO3 < CaCO3 < BeCOs

B. BeCO3 < MgCO3 < K9CO3 < CaCOs4


https://dl.doubtnut.com/l/_vNOvx979uRja
https://dl.doubtnut.com/l/_ULeTVr60TuPy

C. BeCOg < M_9003 < CCLCO3 < K2CO3

D. MQCO3 < BGCOg < CCLCOg < KQCO?,

Answer: C

o Watch Video Solution

22. The correct order of the mobility of the alkali

metal ions in aqueous solution is

AL*T>Na" >K" >Rb"

B.Na™ >K* > Rb" > Li"

CK'">Rb" >Nat > Li"


https://dl.doubtnut.com/l/_ULeTVr60TuPy
https://dl.doubtnut.com/l/_ehZ01I23xb5W

D.Rb™ > K*'* > Na™ > Li"

Answer: D

o Watch Video Solution

23. In Castner-Kellner cell for production of sodium

hydroxide :

A. Brine is electrolyzed with Pt electrodes

B. Brine is electrolyzed using graphite electrodes

C. Molten sodium chloride is electrolysed


https://dl.doubtnut.com/l/_ehZ01I23xb5W
https://dl.doubtnut.com/l/_Ls8UcWhSkV7x

D.Sodium amalgam is formed at mercury

cathode

Answer: D

° Watch Video Solution

24.1n the replacement reaction

N N
/,Cr+MF 3 —;{:Fa- M|

The reaction will be most favourable if M happens to

be

A. Na


https://dl.doubtnut.com/l/_Ls8UcWhSkV7x
https://dl.doubtnut.com/l/_5V54tSiwBtff

B.K

C.Rb

D. Li

Answer: C

o Watch Video Solution

25. The solubility in water of sulphate down the Be
group is Be > Mg > Ca > Sr > Ba.. This is due

to

A. Decreasing lattice energy


https://dl.doubtnut.com/l/_5V54tSiwBtff
https://dl.doubtnut.com/l/_a8qju0S2qEeC

B. High heat of solvation for smaller ions like

B€2+

C. Increase in melting point

D. Increasing molecular weight

Answer: B

o Watch Video Solution

26. Sodium is made by the electrolysis of a molten
mixture of about 40% NaCl and 60% Ca(C'l, because
(a)C’a2+ ion can reduce NaCl to Na

(b)CaCl5 helps in conduction of electricity


https://dl.doubtnut.com/l/_a8qju0S2qEeC
https://dl.doubtnut.com/l/_gjFeuo31uDk7

(c)this mixture has a lower melting point than Nacl

(d)Ca®" can displace Na fromNaCl.

A.Ca™ " can displace Na from NaCl

B. This mixture has a lower meting point than
Nacl

C. CaCl, helps in conduction of electricity

D.Ca™’ ™ can reduce NaCl to Na

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_gjFeuo31uDk7

27. Identify the correct statement.

A. Plaster of Paris can be obtained by hydeation

of gypsum

B. Plaster of Paris is obtained by partial oxidation

of gypsum

C.Gypsum contains a lower percentage of

calcium than Plaster of Paris

D. Gypsum is obtained by heating Plaster of Paris

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_v29kw6wMNC8s

28. Calcium is obtained by the

A. Reductin of calcium chloride with carbon

B. Electrolysis of molten anydrous calcium

chloride

C. Roasting of limestone

D. Electrolysis of solution of calcium chloride in

H,0

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_v29kw6wMNC8s
https://dl.doubtnut.com/l/_MFymo647bxjw

29. When a substance A reacts with water it
produces a combustible gas B and a solution of
substance C in water. When another substance D
reacts with this solution of C, it also produces the
same gas B on warming but D can also produce gas
B on rection with dilute sulphuric acid at room with
dilute sulphuric acid at room temperature. A imparts
a deep flameof yellow colour to a smokeless flame of

Bunesen burner. AB,C and D, respectively are

A. CCL, HQ, CCL(OH)2, Sn
B. K, Hy, KOH, Al

C.Na, Hy, NaOH, Zn


https://dl.doubtnut.com/l/_ica1aVNTuIsO

D. CCLCQ, C2H2, CCL(OH)z, Fe

Answer: C

° Watch Video Solution

Assignment Section D

1.A: NaN3; and Nas N both are stable.
R : Na when reacted with atmospheric nitrogen at

different temperature forms. Stable

NaN3; and NasN


https://dl.doubtnut.com/l/_ica1aVNTuIsO
https://dl.doubtnut.com/l/_8hzHTHyq3X9g

A. If both Assertion & Reason are true and the

reason is the correct explanantion of the

assertion, then mark (1).

B. If both Assertion & Reason are true and the

reason is the correct explanantion of the

assertion, then mark (2).

C.If Assertion is true statement but Reason is

false. Them mark (3).

D.If both Assertion and reason are false

statement, then mark (4).

Answer: D


https://dl.doubtnut.com/l/_8hzHTHyq3X9g

o Watch Video Solution

2. A : Magnesium sulphate is heptahydrate where as

calcium sulphate is dihydrate.

R : Mg and Ca belongs to Group II.

A. If both Assertion & Reason are true and the

reason is the correct explanantion of the

assertion, then mark (1).

B. If both Assertion & Reason are true and the

reason is the correct explanantion of the

assertion, then mark (2).


https://dl.doubtnut.com/l/_8hzHTHyq3X9g
https://dl.doubtnut.com/l/_ARTbgL0bo2cj

C.If Assertion is true statement but Reason is

false. Them mark (3).

D.If both Assertion and reason are false

statement, then mark (4).

Answer: B

o Watch Video Solution

3. A: LiF and Csl both are less soluble in water .
R : LiF is with high lattice energy and Csi is with

smaller hydration energy.


https://dl.doubtnut.com/l/_ARTbgL0bo2cj
https://dl.doubtnut.com/l/_u2WuJPToX0DK

A. If both Assertion & Reason are true and the

reason is the correct explanantion of the

assertion, then mark (1).

B. If both Assertion & Reason are true and the

reason is the correct explanantion of the

assertion, then mark (2).

C.If Assertion is true statement but Reason is

false. Them mark (3).

D.If both Assertion and reason are false

statement, then mark (4).

Answer: A


https://dl.doubtnut.com/l/_u2WuJPToX0DK

o Watch Video Solution

4. A : Lithium is less reactive but the strogest

reducing agent in aqueous solution.

R : Lithium shows positive reduction potential.

A. If both Assertion & Reason are true and the

reason is the correct explanantion of the

assertion, then mark (1).

B. If both Assertion & Reason are true and the

reason is the correct explanantion of the

assertion, then mark (2).


https://dl.doubtnut.com/l/_u2WuJPToX0DK
https://dl.doubtnut.com/l/_lFLCEf6cH6Jv

C.If Assertion is true statement but Reason is

false. Them mark (3).

D.If both Assertion and reason are false

statement, then mark (4).

Answer: C

o Watch Video Solution

5.A: Na and Li are stored under kerosene.

R : Na and Li are soluble in kerosene.


https://dl.doubtnut.com/l/_lFLCEf6cH6Jv
https://dl.doubtnut.com/l/_LBifayOD9yb8

A. If both Assertion & Reason are true and the

reason is the correct explanantion of the

assertion, then mark (1).

B. If both Assertion & Reason are true and the

reason is the correct explanantion of the

assertion, then mark (2).

C.If Assertion is true statement but Reason is

false. Them mark (3).

D.If both Assertion and reason are false

statement, then mark (4).

Answer: D


https://dl.doubtnut.com/l/_LBifayOD9yb8

o Watch Video Solution

6. A : CaCO3 requires more temperature than
MgCO; for decomposition.
R : Group Il metal carbonates on decomposition
gives respective oxide and C'O,
A.If both Assertion & Reason are true and the
reason is the correct explanantion of the
assertion, then mark (1).

B. If both Assertion & Reason are true and the

reason is the correct explanantion of the


https://dl.doubtnut.com/l/_LBifayOD9yb8
https://dl.doubtnut.com/l/_6esPtQH5XYhp

assertion, then mark (2).

C.If Assertion is true statement but Reason is

false. Them mark (3).

D.If both Assertion and reason are false

statement, then mark (4).

Answer: B

o Watch Video Solution

7. A : Magnesium and Cesium gives blue colour in
flame colouration.

R : Mg and Cs are of comparable size.


https://dl.doubtnut.com/l/_6esPtQH5XYhp
https://dl.doubtnut.com/l/_7RYZUl6x6ShS

A. If both Assertion & Reason are true and the

reason is the correct explanantion of the

assertion, then mark (1).

B. If both Assertion & Reason are true and the

reason is the correct explanantion of the

assertion, then mark (2).

C.If Assertion is true statement but Reason is

false. Them mark (3).

D.If both Assertion and reason are false

statement, then mark (4).

Answer: D


https://dl.doubtnut.com/l/_7RYZUl6x6ShS

o Watch Video Solution

8. Statement-1: Lithium has highest hydration

energy.

Statement-2: Lithium is the stronger reducing agent.

A. If both Assertion & Reason are true and the

reason is the correct explanantion of the

assertion, then mark (1).

B. If both Assertion & Reason are true and the

reason is the correct explanantion of the

assertion, then mark (2).


https://dl.doubtnut.com/l/_7RYZUl6x6ShS
https://dl.doubtnut.com/l/_nNpoFhcuru07

C.If Assertion is true statement but Reason is

false. Them mark (3).

D.If both Assertion and reason are false

statement, then mark (4).

Answer: B

o Watch Video Solution

9. A : On reaction with liquid ammonia, alkali metals
give conducing solution.

R : Ammoniated e~ and ammoniated cations are


https://dl.doubtnut.com/l/_nNpoFhcuru07
https://dl.doubtnut.com/l/_Cbd9oJnsPFjH

formed when alkali metals is present in liquid

ammonia.

A. If both Assertion & Reason are true and the

reason is the correct explanantion of the

assertion, then mark (1).

B. If both Assertion & Reason are true and the

reason is the correct explanantion of the

assertion, then mark (2).

C.If Assertion is true statement but Reason is

false. Them mark (3).


https://dl.doubtnut.com/l/_Cbd9oJnsPFjH

D.If both Assertion and reason are false

statement, then mark (4).

Answer: A

o Watch Video Solution

10. Statement-1: Lithium's reaction with water is less
vigorous than that of sodium.
Statement-2: : Lithium has small size and very high

hydration energy.

A. If both Assertion & Reason are true and the

reason is the correct explanantion of the


https://dl.doubtnut.com/l/_Cbd9oJnsPFjH
https://dl.doubtnut.com/l/_dRjZOuPjDXzb

assertion, then mark (1).

B. If both Assertion & Reason are true and the

reason is the correct explanantion of the

assertion, then mark (2).

C.If Assertion is true statement but Reason is

false. Them mark (3).

D.If both Assertion and reason are false

statement, then mark (4).

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_dRjZOuPjDXzb
https://dl.doubtnut.com/l/_F1ETyoSE3arJ

11. A : Solubility of alkaline earth metal carbonates

decreases down the group.

R : Hydration enthalpy decreases down the group

whereas lattice enthalpy remain almost constant

A. If both Assertion & Reason are true and the

reason is the correct explanantion of the

assertion, then mark (1).

B. If both Assertion & Reason are true and the

reason is not the correct explanantion of the

assertion, then mark (2).


https://dl.doubtnut.com/l/_F1ETyoSE3arJ

C.If Assertion is true statement but Reason is

false. Them mark (3).

D.If both Assertion and reason are false

statement, then mark (4).

Answer: A

o Watch Video Solution

12. A: Magnesium do not impart flame colourtion.
R:The e in magnesium are too strongly bound to

get excited by flame.


https://dl.doubtnut.com/l/_F1ETyoSE3arJ
https://dl.doubtnut.com/l/_mvakbUwlXM4k

A. If both Assertion & Reason are true and the

reason is the correct explanantion of the

assertion, then mark (1).

B. If both Assertion & Reason are true and the

reason is the correct explanantion of the

assertion, then mark (2).

C.If Assertion is true statement but Reason is

false. Them mark (3).

D.If both Assertion and reason are false

statement, then mark (4).

Answer: A


https://dl.doubtnut.com/l/_mvakbUwlXM4k

o Watch Video Solution

13. A : Beryllium hydroxide is basic in nature only

R : It reacts with acid only and not with base.

A. If both Assertion & Reason are true and the

reason is the correct explanantion of the

assertion, then mark (1).

B. If both Assertion & Reason are true and the

reason is the correct explanantion of the

assertion, then mark (2).


https://dl.doubtnut.com/l/_mvakbUwlXM4k
https://dl.doubtnut.com/l/_qfcha1wSFik1

C.If Assertion is true statement but Reason is

false. Them mark (3).

D.If both Assertion and reason are false

statement, then mark (4).

Answer: D

o Watch Video Solution

14. A : Aq solution of washing soda is alkaline in
nature

R : It is salt of weak acid and strong base.


https://dl.doubtnut.com/l/_qfcha1wSFik1
https://dl.doubtnut.com/l/_Bvx2xAtgqCKS

A. If both Assertion & Reason are true and the

reason is the correct explanantion of the

assertion, then mark (1).

B. If both Assertion & Reason are true and the

reason is not the correct explanantion of the

assertion, then mark (2).

C.If Assertion is true statement but Reason is

false. Them mark (3).

D.If both Assertion and reason are false

statement, then mark (4).

Answer: A


https://dl.doubtnut.com/l/_Bvx2xAtgqCKS

o Watch Video Solution

15. (a). What is the hybrid state of Be in BeCl, in
vapour state. What will be the change in the hybrid
state of BeCl, in the solid state?

(b). Draw the structure of (i) BeCl, (vapour state)
and (ii)BeCl, (solid state).

(c ). Why do halides and hydrides of beryllium

polymerise?

° Watch Video Solution



https://dl.doubtnut.com/l/_Bvx2xAtgqCKS
https://dl.doubtnut.com/l/_5bU4lqwZZ3Iw

